
a+ b
√

, c+ d
√ ∈ Q(

√
)

−(a+ b
√

) = −a− b
√

∈ Q(
√

)

(a+ b
√

) + (c+ d
√

) = (a+ c) + (b+ d)
√

∈ Q(
√

)

(a+ b
√

)(c+ d
√

) = (ac+ bd) + (ad+ bc)
√

∈ Q(
√

)

a+ b
√ =

a− b
√

a − b
∈ Q(

√
)

s �∈ Q s R Q(
√

)

s = π

Z[
√

] Z[
√

]

+
√

+
√

( a + b) + (a + b)
√

( +
√

)(a + b
√

) = a + b
√ ∈ Z[

√
]

b b = − a = a+ b = a+ b =

n = n = + + · · ·+︸ ︷︷ ︸
−n

∈ F n ∈ N ∈ F R F

m

n
= m

n
∈ F

m

n
∈ Q

n
∈ F �= n ∈ Z Z ⊆ F −n ∈ F

Q ⊆ F

Z

+ ×



Z

+ ×

A = 0 A =

⎡⎣ a b

c d

⎤⎦

0 = A =

⎡⎣ a b

c d

⎤⎦⎡⎣ a b

c d

⎤⎦ =

⎡⎣ a + bc ab+ bd

ac+ dc bc+ d

⎤⎦
⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩

a + bc =

(a+ d)b =

(a+ d)c =

bc+ d =

b d = ±a a = d

c

d = ±a a = a = b =

a = d = b =

a = d = c = a = a = c =

a = −bc d = −a c �= b �=
c = −b− a d = −a a = b = d =

A

c

⎡⎣ ⎤⎦ , b

⎡⎣ ⎤⎦ ,
⎡⎣ a b

−b− a −a

⎤⎦ , (a, b �= )

A = I A =

⎡⎣ a b

c d

⎤⎦

I = A =

⎡⎣ a b

c d

⎤⎦⎡⎣ a b

c d

⎤⎦ =

⎡⎣ a + bc ab+ bd

ac+ dc bc+ d

⎤⎦
⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩

a + bc =

(a+ d)b =

(a+ d)c =

bc+ d =

b d = ±a a = d

c

a = d a = ± a = b =

c a = −d c =

a = d a = ± a = c =

b a = −d b =

d = −a c �= b �=
c = b− ( − a )

A⎡⎣ ⎤⎦ ,
⎡⎣

c −

⎤⎦ ,
⎡⎣ −

c

⎤⎦ ,
⎡⎣ −

−

⎤⎦ ,
⎡⎣ b

−

⎤⎦ ,
⎡⎣ − b

⎤⎦ ,
⎡⎣ a b

b− ( − a ) −a

⎤⎦
B = [bij] A = [aij]

(A�)� = [aji]
� = [aij] = A

(λA)� = (λ[aij])
� = ([λaij])

� = [λaji] = λA�

(A+B)� = [aij + bij]
� = [aji + bji] = [aji] + [bji] = A� +B�.

ij ≤ i, j ≤ n

[(AB)�]ij = [AB]ji =
n∑

k=

[A]jk[B]ki =
n∑

k=

[A�]kj [B�]ik =
(
[B�][A�]

)
ij



A�(A− )� = (AA− )� = I� = I (A− )�A� = (A− A)� = I� = I.

(A�)− = (A− )� A�

B = [bij] A = [aij]

(A∗)∗ = [aji]
∗ = [aij] = A

(λA)∗ = (λ[aij])
∗ = ([λaij])

∗ = [λaji] = λA∗

(A+B)∗ = [aij + bij]
∗ = [aji + bji] = [aji] + [bji] = A∗ +B∗.

ij ≤ i, j ≤ n

[(AB)∗]ij = [AB]ji =
n∑

k=

[A]jk[B]ki =
n∑

k=

[A]jk [B]ki =
n∑

k=

[A∗]kj[B∗]ik = ([B∗][A∗])ij

Z =

⎡⎢⎢⎢⎣
z

zn

⎤⎥⎥⎥⎦ Y =

⎡⎢⎢⎢⎣
x

yn

⎤⎥⎥⎥⎦ X =

⎡⎢⎢⎢⎣
x

xn

⎤⎥⎥⎥⎦
X · Y =

n∑
i=

xiyi ∈ F

Y ·X =
n∑

i=

yixi =
n∑

i=

yixi = Y ·X

X · 0 =
n∑

i=

xi = =
n∑

i=

xi = 0 ·X

(λX) · Y =
n∑

i=

(λxi)yi = λ

n∑
i=

xiyi = λ(X · Y )

X · (λY ) =
n∑

i=

xi(λyi) = λ
n∑

i=

xiyi = λ(X · Y )

X · (Y + Z) =
n∑

i=

xi(yi + zi) =
n∑

i=

xiyi +
n∑

i=

xizi) = X · Y +X · Z

B =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

A =

⎡⎣ I B

0 B

⎤⎦ A

A =

⎡⎣ I B

0 B

⎤⎦⎡⎣ I B

0 B

⎤⎦ =

⎡⎣ I B +B

0 B

⎤⎦

A = AA =

⎡⎣ I B

0 B

⎤⎦ =

⎡⎣ I B +B

0 B

⎤⎦⎡⎣ I B +B +B

0 B

⎤⎦ .

An =

⎡⎣ I B + B +B + · · ·+Bn

0 Bn

⎤⎦ .
B = J J = J × J

Bk = k k− J

B +B +B + · · ·+Bn =
n∑

k=

Bk =
n∑

k=

k k− J =
n−∑
k=

k kJ

= ( n − )J.

An =

⎡⎣ I ( n − )J

0 n n− J

⎤⎦ .
AB = BA B =

⎡⎣ a b

c d

⎤⎦

AB =

⎡⎣ −
⎤⎦⎡⎣ a b

c d

⎤⎦ =

⎡⎣ a −a+ b

c −c+ d

⎤⎦
BA =

⎡⎣ a b

c d

⎤⎦⎡⎣ −
⎤⎦ =

⎡⎣ a− c b− d

c d

⎤⎦
⎧⎪⎪⎪⎨⎪⎪⎪⎩

a− c = a

b− d = −a+ b

d = −c+ d



a = d c =

B =

⎡⎣ a b

a

⎤⎦ .
[Ers]ij = δriδsj rs Ers

Ers = [δriδsj]

ErsEpq = δspErq.

ij ij ≤ i, j ≤ n

[ErsEpq]ij =
n∑

k=

[Ers]ik [Epq]kj

=
n∑

k=

δriδskδpkδqj

= δriδqj

n∑
k=

δskδpk

= δriδqj

⎧⎨⎩ s = p

s �= p

= δriδqjδsp

= δsp [Erq]ij .

n × n A = [aij] ∈ Mn(F )

n× n A AErs = ErsA ≤ r, s ≤ n

Ers A Ers

B =
n∑

i=

n∑
j=

bijEij B = [bij] B ∈ Mn(F )

AB = A

(
n∑

i=

n∑
j=

bijEij

)

=
n∑

i=

n∑
j=

bijAEij

=
n∑

i=

n∑
j=

bijEijA

=

(
n∑

i=

n∑
j=

bijEij

)
A

= BA.

n× n A = [aij] ∈ Mn(F )

AErs ij AErs = ErsA ≤ r, s ≤ n

[AErs]ij =
n∑

k=

aik [Ers]kj

=
n∑

k=

aikδrkδsj

= δsj

n∑
k=

aikδrk

= δsjair.

ErsA ij

[ErsA]ij =
n∑

k=

[Ers]ik akj

=
n∑

k=

δriδskakj

= δri

n∑
k=

akjδsk

= δriasj.

≤ i, j ≤ n ≤ r, s ≤ n

δsjair = δriasj.

r = s = j

δjjaij = δjiajj .

i �= j

aij = ,

s = j r = i A

aii = ajj ,

A

X



A = [δi+ ,j]n×n =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣

δ , δ , δ , δ , · · · δ ,n

δ , δ , δ , δ , · · · δ ,n

· ·
δn, δn, δn, δn, · · · δn,n

δn+ , δn+ , δn+ , δn+ , · · · δn+ ,n

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦
.

A ij

[A ]ij =
n∑

k=

[A]ik[A]kj =
n∑

k=

δi+ ,kδk+ ,j = δi+ ,j.

r = A r = δi+r,j Ar ij r

r [Ar− ]ij = δi+r− ,j r −

[Ar]ij =
n∑

k=

[Ar− ]ik[A]kj =
n∑

k=

δi+r− ,kδk+ ,j = δi+r,j.

≤ i, j ≤ n

[An]ij = δi+n,j =

An = 0

[An− ] n = δ +n− ,n = δn,n =

Ar =
∑n−r

i= Ei,i+r A =
∑n−

i= Ei,i+ A =
∑n−

i= Ei,i+ An− �= 0

AB ij n× n B An = 0 An− = E ,n

[AB]ij =
n∑

k=

[A]ik[B]kj =
n∑

k=

δi+ ,k[B]kj =

⎧⎨⎩ [B]i+ ,j ≤ i ≤ n−
i = n

BA ij

[BA]ij =
n∑

k=

[B]ik[A]kj =
n∑

k=

[B]ikδk+ ,j =

⎧⎨⎩ [B]i,j− ≤ j ≤ n

j =

≤ j ≤ n ≤ i ≤ n− AB = BA

[B]i,j− = [B]i+ ,j

j = r + i = r

[B]r,r = [B]r+ ,r+

j = r + i = r a = b = b = · · · = bnn B

[B]r,r+ = [B]r+ ,r+

j = r + i = r a = b = b = · · · = bn− ,n B

[B]r,r+ = [B]r+ ,r+

j = r + s i = r a = b = b = · · · = bn− ,n

[B]r,r+s = [B]r+ ,r+s+

as = b ,s+ = b ,s+ = · · · = bn−s,n

= [BA]i, = [AB]i, = [B]i+ , , i = , , . . . , n−

b = b = · · · = bn = bi = i = , , . . . , n

= bi = bi+ , , i = , , . . . , n−

b = b = · · · = bn = bi = i = , , . . . , n

i > j bij =

B =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

a a a a · · · an−

a a a · · · an−

· ·
· · · a a

· · · a a

· · · a

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
= a I + a A+ a A + · · ·+ an− An− .

A =

⎡⎣
−

⎤⎦⎡⎣
−

⎤⎦ =

⎡⎣ ⎤⎦ = I

A k+ = kA A k = kI A = A

A =

⎡⎣ ⎤⎦⎡⎣ ⎤⎦ =

⎡⎣ ⎤⎦ = A

An =
n− A



A − (a+ d)A =

⎡⎣ a b

c d

⎤⎦⎡⎣ a b

c d

⎤⎦− (a+ d)

⎡⎣ a b

c d

⎤⎦
=

⎡⎣ a + bc ab+ bd

ac+ dc bc+ d

⎤⎦−
⎡⎣ a + ad ab+ bd

ac+ cd ad+ d

⎤⎦
=

⎡⎣ bc− ad

bc− ad

⎤⎦
= −(ad− bc)I

A − (a+ d)A+ (ad− bc)I = 0

A − A + I = 0 A − ( + )A + ( × − × (− )I = 0

n = n = A = A− I

n+ n

An+ = AnA =

(
n −

A+
− n

I

)
A

=
n −

A +
− n

A

=
n −

( A− I) +
− n

A

= ( n − )A−
n+ −

I +
− n

A

=
( n − ) + − n

A−
n+ −

I

=
n+ −

A+
− n+

I.

AXn =

⎡⎣ a b
⎤⎦⎡⎣ xn

xn−

⎤⎦ =

⎡⎣ axn + bxn−

xn

⎤⎦ =

⎡⎣ xn+

xn

⎤⎦ = Xn+

b = − a =

An =
n −

A+
− n

I

=
n −

⎡⎣ −
⎤⎦+ − n

⎡⎣ ⎤⎦

=

⎡⎣ n+ − − n+

n − − n

⎤⎦

⎡⎣ xn+

xn

⎤⎦ = Xn+ = AnX

=

⎡⎣ n+ − − n+

n − − n

⎤⎦⎡⎣ x

x

⎤⎦
=

⎡⎣ ( n+ − )x − ( n+ − )x

( n − )x − ( n − )x

⎤⎦ .

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦ − R +R → R→
R +R → R

⎡⎢⎢⎢⎣ − −

⎤⎥⎥⎥⎦
−R / → R →
R / → R

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

− R +R → R→−R +R → R

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎧⎨⎩ x + z =

y + z =

(x, y, z) = (−z,−z, z)

= z(− ,− , ),

z



⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ − R +R → R→− R +R → R

⎡⎢⎢⎢⎣ − −
− −

⎤⎥⎥⎥⎦
−R → R →−R / → R

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

−R +R → R→−R +R → R

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎧⎨⎩ x + x + x =

x + x =

(x , x , x , x ) = (− x − x , x ,−x , x )

= x (− , , , ) + x (− , ,− , )

x x

⎡⎢⎢⎢⎣ −
−

⎤⎥⎥⎥⎦ −R +R → R→− R +R → R

⎡⎢⎢⎢⎣ − − −
− − −

⎤⎥⎥⎥⎦
R +R → R→− R +R → R

⎡⎢⎢⎢⎣
− −

− − −
−

⎤⎥⎥⎥⎦
−R → R →
R / → R

⎡⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎦

R +R → R→− R +R → R

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦

⎧⎪⎪⎪⎨⎪⎪⎪⎩
x + u =

y + u =

z + u = −

(x, y, z, u) =

(
− u, − u,− − u, u

)
= ( , ,− , ) + u(− ,− ,− , )

= ( , ,− , ) + t(− ,− ,− , ),

t

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ − R +R → R→− R +R → R

⎡⎢⎢⎢⎣ − − −
− − −

⎤⎥⎥⎥⎦
−R / → R →−R / → R

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

− R +R → R→−R +R → R

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎧⎨⎩ x + x + x =

x + x =

(x , x , x , x ) = ( − x − x , x , − x , x )



= ( , , , ) + x (− , , , ) + x (− , ,− , ),

x x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ R ↔ R →

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − − −
− − − −

⎤⎥⎥⎥⎥⎥⎦

−R / → R →−R → R

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→−R +R → R
−R +R → R

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

R / → R →

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦

⎧⎪⎪⎪⎨⎪⎪⎪⎩
w + y = −

y + z =

z =

x w = − − = − y = − = z =

(w, x, y, z) =

(
− , x, ,

)
= (− , , , ) + x( , , , ).

⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦
− R +R → R→− R +R → R
− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −
− −
− −

⎤⎥⎥⎥⎥⎥⎦

R ↔ R →

⎡⎢⎢⎢⎢⎢⎣
− −
− −
− −

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −
− −
− −

⎤⎥⎥⎥⎥⎥⎦

R / → R →−R / → R

⎡⎢⎢⎢⎢⎢⎣
− −

− −

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→
R +R → R
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦
=



⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ R ↔ R →

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→− R +R → R
− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−
−
−

⎤⎥⎥⎥⎥⎥⎦

−R / → R →−R / → R
−R → R

⎡⎢⎢⎢⎢⎢⎣
−
− −
− −
− −

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→−R +R → R
−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦

⎧⎨⎩ x + z =

y − z = −

(x, y, z) = ( − z,− + z, z)

= ( ,− , ) + z(− , , ),

z

⎡⎢⎢⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎥⎥⎦ R / → R →

⎡⎢⎢⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→−R +R → R
− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− − −
−

⎤⎥⎥⎥⎥⎥⎦

−R / → R →−R / → R
−R / → R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦

R ↔ R →

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦
=

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
− R +R → R→− R +R → R
− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→−R / +R → R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦

R / → R →
R / → R
R ↔ R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦



− R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦

⎧⎪⎪⎪⎨⎪⎪⎪⎩
x + x − x =

x + x =

x + x =

(x , x , x , x , x )=

(
− x + x , − x , − x , x , x

)
= ( , , , , ) + x (− , , , , ) + x ( ,− ,− , , ),

x x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ − R +R → R→− R +R → R

⎡⎢⎢⎢⎣ − − −
− − −

⎤⎥⎥⎥⎦
−R / → R →
R ↔ R

⎡⎢⎢⎢⎣
− − −

⎤⎥⎥⎥⎦
− R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
R / → R →

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
R +R → R→− R +R → R

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎧⎪⎪⎪⎨⎪⎪⎪⎩
x + x =

x + x =

x + x =

(x , x , x , x ) =

(
− x ,− x ,− x , x

)
= − x ( , , , )

= t( , , , )

t

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦
− R +R → R
−R +R → R→

R → R +R → R
R → − R +R → R

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣
− −

− −

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦

−R → R →
R +R → R

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦

R ↔ R →
R ↔ R

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦

− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦



⎧⎪⎪⎪⎨⎪⎪⎪⎩
x + x =

x + x =

x =

x = x = x =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
− R +R → R→−R +R → R
− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −

− −

⎤⎥⎥⎥⎥⎥⎦

R / +R → R→
R +R → R
−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −

⎤⎥⎥⎥⎥⎥⎦

−R / → R →
R ↔ R

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎧⎪⎪⎪⎨⎪⎪⎪⎩
x + x + x + x =

x + x + x =

x =

(x , x , x , x , x ) = (− x − x , x ,−x , x , )

= x (− , , , , ) + x (− , ,− , , )

x x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
− R +R → R→− R +R → R
−R +R → R

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

R / → R →
R / → R

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

R ↔ R →

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦

⎧⎪⎪⎪⎨⎪⎪⎪⎩
x + x + x − x =

x + x + x =

x =

(x , x , x , x , x ) = (− x − x , x ,−x , x , )

= x (− , , , , ) + x (− , ,− , , )

x x

⎡⎢⎢⎢⎢⎢⎣
− −
− −

− −
− −

⎤⎥⎥⎥⎥⎥⎦− R +R → R→



⎡⎢⎢⎢⎢⎢⎣
− −
− −

− −
− − −

⎤⎥⎥⎥⎥⎥⎦ R ↔ R →

⎡⎢⎢⎢⎢⎢⎣
− −

− −
− −

− − −

⎤⎥⎥⎥⎥⎥⎦
− R +R → R→
R +R → R

−R / +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

− −

− −

⎤⎥⎥⎥⎥⎥⎦ R ↔ R →

⎡⎢⎢⎢⎢⎢⎣
− −

− −
− −

⎤⎥⎥⎥⎥⎥⎦ −R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎥⎥⎦
R / → R →
R / → R
−R / → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦− R / +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦

⎧⎪⎪⎪⎨⎪⎪⎪⎩
x − x + x − x =

x + x − x =

x =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

x

x

x

x

x

x

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
=

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

+ x − x + x

x

− x + x

x

x

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
+ x

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
− x

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
+ x

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
x x

⎡⎢⎢⎢⎣
a

−
−b

⎤⎥⎥⎥⎦ − R +R → R→− R +R → R

⎡⎢⎢⎢⎣
a

− − a

− − − b − a

⎤⎥⎥⎥⎦
R +R → R→−R / +R → R

⎡⎢⎢⎢⎣
+ a

− − a

− − b − a

⎤⎥⎥⎥⎦
R / → R
R / → R →−R → R

⎡⎢⎢⎢⎣
+ a

− − a

+ b a

⎤⎥⎥⎥⎦



⎧⎪⎪⎪⎨⎪⎪⎪⎩
x = + a

y + z = − − a

( + b)z = a.

a = a �= b = −

(x, y, z) =

(
, z, z

)
= ( , , ) + z( , , )

z =
a

+ b
b �= − z

y = − − a− z = − − a− a

( + b)

(x, y, z) =

(
+ a,− − a− a

( + b)
,

a

+ b

)
.

⎡⎢⎢⎢⎣
−
− a

− b

⎤⎥⎥⎥⎦− R +R → R→− R +R → R

⎡⎢⎢⎢⎣
−

− + a −
− − + b

⎤⎥⎥⎥⎦
− R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− + a −
− + a −
− a − + b

⎤⎥⎥⎥⎦

⎧⎪⎪⎪⎨⎪⎪⎪⎩
x + ( a− )z = −

y + (a− )z = −
( − a)z = − + b.

b = b �= a =

(x, y, z) = (− − ( a− )z,− − (a− )z, z)

= (− ,− , ) + z( a− ), a− , ),

z =
b−
− a

a �= z

x = − − ( a− )z = − − ( a− )
+ b

− a

y = − − (a− )z = − − (a− )
+ b

− a

(x, y, z) =

(
− − ( a− )

+ b

− a
,− − (a− )

+ b

− a
,

+ b

− a

)

C B A ∈ Mn(F )

B = BI = B(AC) = (BA)C = IC = C.

(AB)(B− A− ) = ABB− A− = AIA− = AA− = I

(B− A− )(AB) = B− A− AB = BIB− = BB− = I

A · · ·Ak A , . . . , Ak ∈ Mn(F ) B− A− AB

(A · · ·Ak)
− = A−

k A−
k− · · ·A− .

(A∗)(A− )∗ = (AA− )∗ = I∗ = I (A− )∗(A∗) = (A− A)∗ = I∗ = I

(A∗)− = (A− )∗

A(Y +X ) = AY + AX = 0 + B = B AX = 0 Y

AX = B Z AX = B Y +X

Y AY = A(Z −X ) = AX − AX = B − B = 0 Y = Z −X

Z = Y +X AX = 0

X = A− B A (=⇒)

AX = A(A− B) = (AA− )B = IB = B

A− AX = B X AX = B X = A− B

X = A− B A− A = I (A− A)X = A− B A− (AX) = A− B



AX = 0 Y X AX = B (⇐=)

AX = B X AX = B Y +X

A AX = 0 Y = 0 Y +X = X

ad− bc

⎡⎣ d −b

−c a

⎤⎦⎡⎣ a b

c d

⎤⎦ =
ad− bc

⎡⎣ ad− bc

−cb+ ad

⎤⎦
=

⎡⎣ ⎤⎦ .
(λI)(λ− I) = I A− = (λI)− = λ− I A λ �= A = λI

A = λI A− A = A− (λA) A = λA A (λλ− )I = I

A ×
A⎡⎢⎢⎢⎣ −

−

⎤⎥⎥⎥⎦ R +R → R→−R +R → R

⎡⎢⎢⎢⎣
− − −

⎤⎥⎥⎥⎦ R / → R →

⎡⎢⎢⎢⎣
− − −

⎤⎥⎥⎥⎦− R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦ R / → R→

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦− R / +R → R→

⎡⎢⎢⎢⎣
− −
− − −

⎤⎥⎥⎥⎦

PA = R P A

R =

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ , P =

⎡⎢⎢⎢⎣
−
− −

⎤⎥⎥⎥⎦ .
A ×

A

⎡⎢⎢⎢⎣
i

− i

i − −i

⎤⎥⎥⎥⎦− R +R → R→−IR +R → R

⎡⎢⎢⎢⎣
i

− − i − + i −
− − i −i

⎤⎥⎥⎥⎦ R / → R →
R ↔ R

⎡⎢⎢⎢⎣
i

− − i − i

− − i − + i −

⎤⎥⎥⎥⎦ −IR +R → R→
( + I)R +R → R

⎡⎢⎢⎢⎣
i − i

− − i − i

− − i − − i − − i + i

⎤⎥⎥⎥⎦−R /( + I/ ) → R→

⎡⎢⎢⎢⎣
i − i

− − i − i

+ i − i − + i − + i

⎤⎥⎥⎥⎦− I R / +R → R→
R / +R → R

⎡⎢⎢⎢⎣
− i − i + i + i

− i − i − + i − + i

+ i − i − + i − + i

⎤⎥⎥⎥⎦
PA = R P A

R =

⎡⎢⎢⎢⎣
− i

− i

+ i

⎤⎥⎥⎥⎦ , P =

⎡⎢⎢⎢⎣
− i + i + i

− i − + i − + i

− i − + i − + i

⎤⎥⎥⎥⎦



A ×
A⎡⎢⎢⎢⎣

⎤⎥⎥⎥⎦− R +R → R→−R +R → R

⎡⎢⎢⎢⎣ − −
−

⎤⎥⎥⎥⎦ R +R → R→
R +R → R
−R → R⎡⎢⎢⎢⎣

−
−

−

⎤⎥⎥⎥⎦
PA = R P A

R =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ , P =

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦ .
A ×

A⎡⎢⎢⎢⎣ − −
− −

⎤⎥⎥⎥⎦ R + R → R→

⎡⎢⎢⎢⎣ −
− −

⎤⎥⎥⎥⎦ R ↔ R →

⎡⎢⎢⎢⎣ − −
−

⎤⎥⎥⎥⎦− R +R → R→− R +R → R

⎡⎢⎢⎢⎣
− −

− −
− −

⎤⎥⎥⎥⎦ R / → R →

⎡⎢⎢⎢⎣
− −

− −
− −

⎤⎥⎥⎥⎦− R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− −

− −
− −

⎤⎥⎥⎥⎦
PA = R P A

R =

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦ , P =

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦ .

⎡⎣ A 0

0 B

⎤⎦⎡⎣ A− 0

0 B−

⎤⎦ =

⎡⎣ AA− 0

0 BB−

⎤⎦ = I

⎡⎣ A C

0 B

⎤⎦⎡⎣ A− −A− CB−

0 B−

⎤⎦ =

⎡⎣ AA− + C0 A(−A− CB− ) + CB−

0A− +B0 0(−A− CB− ) +BB−

⎤⎦ = I

A+ UA = I (I + U)A = I I + U A

(I + U)A = I =⇒ A+ UA = I =⇒ UA+ U A = U =⇒ I − A+ A = U =⇒ I = U.

AB = I =⇒ C(AB) = C =⇒ (CA)B = C =⇒ IB = C =⇒ B = C

B = A− AB = BA = I B = C

P

P = P =⇒ P− P = P− P =⇒ P = I.

P

(I − P )(I − P ) = I − P − P + P = I − P + P = I



I − P I − P I − P I − P

I = (I − P )(I − P ) = I − P − P + P = I − P + P

P = P − P + P =

U = I − P P = (I − U) U = I U

P = P

P = (I − U)(I − U)

= (I − U − U + U )

= (I − U + I)

= (I − U) = P.

U = I − P P

P

(I − aP )(I − a

a− P ) = I − a

a− P − aP +
a

a− P

= I − a

a− P − aP +
a

a− P

= I − aP +
a − a

a− P

= I − aP + aP

= I.

I − aP

(I − aP )− = I − a

a− P.

A ×
A⎡⎢⎢⎢⎣

−

⎤⎥⎥⎥⎦− R +R → R→−R +R → R

⎡⎢⎢⎢⎣ − − −
− − −

⎤⎥⎥⎥⎦
−R → R →

⎡⎢⎢⎢⎣ −
− − −

⎤⎥⎥⎥⎦

− R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎦
R / → R →

⎡⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎦
R +R → R→− R +R → R

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
A⎡⎢⎢⎢⎣

−
−

−

⎤⎥⎥⎥⎦ .

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦− R +R → R→− R +R → R

⎡⎢⎢⎢⎣
−

− −
− −

⎤⎥⎥⎥⎦
−R +R → R→

⎡⎢⎢⎢⎣
−

− −
− −

⎤⎥⎥⎥⎦
A A

A ×
A

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦− R +R → R→

⎡⎢⎢⎢⎣
−

− −
−

⎤⎥⎥⎥⎦
R ↔ R →

⎡⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎦



R +R → R→− R +R → R

⎡⎢⎢⎢⎣ −
− −

⎤⎥⎥⎥⎦
R / → R →

⎡⎢⎢⎢⎣ −
− −

⎤⎥⎥⎥⎦
R +R → R→

⎡⎢⎢⎢⎣ − −
− −

⎤⎥⎥⎥⎦
A⎡⎢⎢⎢⎣ − −

− −

⎤⎥⎥⎥⎦ .
A ×

A⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ −R +R → R→−R +R → R

⎡⎢⎢⎢⎣ −
−

⎤⎥⎥⎥⎦
−R +R → R→−R +R → R

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
−R +R → R→

⎡⎢⎢⎢⎣
−

− −
−

⎤⎥⎥⎥⎦
A⎡⎢⎢⎢⎣

−
− −

−

⎤⎥⎥⎥⎦ .
A ×

A⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦− R +R → R→− R +R → R

⎡⎢⎢⎢⎣ − − −
− − −

⎤⎥⎥⎥⎦
−R / → R →
R ↔ R

⎡⎢⎢⎢⎣ −
− − −

⎤⎥⎥⎥⎦
− R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎦
R / → R →

⎡⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎦
− R +R → R→
R +R → R

⎡⎢⎢⎢⎣
−
− −

−

⎤⎥⎥⎥⎦
A⎡⎢⎢⎢⎣

−
− −

−

⎤⎥⎥⎥⎦ .

A− = −
⎡⎣ −

−

⎤⎦ B =

⎡⎣ ⎤⎦ A =

⎡⎣ ⎤⎦
B− = −

⎡⎣ −
−

⎤⎦
⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

−

=

⎡⎣ A 0

0 B

⎤⎦− =

⎡⎣ A− 0

0 B−

⎤⎦ =

⎡⎢⎢⎢⎢⎢⎣
−

−
−

−

⎤⎥⎥⎥⎥⎥⎦
A ×



A

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ R / → R →

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦− R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ R / → R →

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦− R / + R → R→

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦ R → R / →

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦− R / +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎥⎥⎦

A⎡⎢⎢⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎥⎥⎦ .
A ×

A⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
−R +R → R→−R +R → R
−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R→−R +R → R
−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−
−
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− −
−

−

⎤⎥⎥⎥⎥⎥⎦ −R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

− −
− −

−

⎤⎥⎥⎥⎥⎥⎦
A⎡⎢⎢⎢⎢⎢⎣

−
− −

− −
−

⎤⎥⎥⎥⎥⎥⎦ .



A ×
A

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦− R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

− −
−

⎤⎥⎥⎥⎥⎥⎦ R / → R →

⎡⎢⎢⎢⎢⎢⎣
−

− −
−

⎤⎥⎥⎥⎥⎥⎦ R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦ −R / → R →

⎡⎢⎢⎢⎢⎢⎣
− −
− −

⎤⎥⎥⎥⎥⎥⎦
− R / +R → R→−R / +R → R
− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −
− −

⎤⎥⎥⎥⎥⎥⎦ R → R / →

⎡⎢⎢⎢⎢⎢⎣
− −
− −

⎤⎥⎥⎥⎥⎥⎦
− R / +R → R→

R / +R → R
R / +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎥⎥⎦
A⎡⎢⎢⎢⎢⎢⎣

−
−

−

⎤⎥⎥⎥⎥⎥⎦ .
AB U

(AB)U = I =⇒ A− (AB)U = A− =⇒ BU = A− =⇒ B(UA) = I.

B− = UA B (UA)B = I

I = U(AB) = (UA)B AB U

I = (AB)U = A(BU) B− = UA B (UA)B = I

A− = BU A (BU)A = I

C A ABC U

(ABC)U = I =⇒ A− (ABC)U = A− =⇒ BCU = A− =⇒ B(CUA) = I.

B− = CUA B (CUA)B = I

(I−A)− = I+A I−A (I−A)(I+A) = I +IA−AI−A = I−A = I

(I − A)− = I + A+ A I − A (I − A)(I + A+ A ) = I − A = I

(I−A)− = I+A+· · ·+Ak− I−A (I−A)(I+A+· · ·+Ak− ) = I−Ak = I

(I + A)− = I + (−A) + (−A) + · · ·+ (−A)k− I + A = I − (−A)

a I + a A+ · · ·+ ak− Ak− = a (I + b A+ · · ·+ bk− Ak− ) = a (I + B)

B = b A+ · · ·+ bk− Ak− = A(b I + · · ·+ bk− Ak− ), bi = a− ai.

Bk = 0 Ak = 0





det(A,P,X) = − X = (x, y, z) P = (p, q, r) A = (a, b, c)

∣∣∣∣∣∣∣∣∣
− a − b − c

p+ x q + y r + z

x y z

∣∣∣∣∣∣∣∣∣ = det(− A, P +X, X)

= det(− A, P, X) + det(− A,X, X)

= − det(A,P,X) +

= .

∣∣∣∣∣∣∣∣∣
−x −y −z

p+ a q + b r + c

p q r

∣∣∣∣∣∣∣∣∣ = det(−X, P + A, P )

= det(−X, P, X) + det(−X,A, P )

= − det(X,A, P )

= det(P,A,X)

= − det(A,P,X)

= .

X = (x, y, z) P = (p, q, r) A = (a, b, c)∣∣∣∣∣∣∣∣∣
p+ x q + y r + z

a+ x b+ y c+ z

a+ p b+ q c+ r

∣∣∣∣∣∣∣∣∣ = det(P +X,A+X,A+ P )

= det(P,X,A) + det(X,A, P )

= − det(P,A,X)− det(A,X, P )

= det(A,P,X) + det(A,P,X)

= det(A,P,X)

=

∣∣∣∣∣∣∣∣∣
a b c

p q r

x y z

∣∣∣∣∣∣∣∣∣ .

−∣∣∣∣∣∣∣∣∣∣∣
x x

x x

x x

∣∣∣∣∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣∣∣∣∣
x x

x −x

x −x

∣∣∣∣∣∣∣∣∣∣∣
= −

∣∣∣∣∣∣∣∣∣
x x

−x

−x

∣∣∣∣∣∣∣∣∣

= −

∣∣∣∣∣∣∣∣∣
x x

x

−x

∣∣∣∣∣∣∣∣∣
= −(− ) + x

∣∣∣∣∣∣ x

−x

∣∣∣∣∣∣
= − x .

∣∣∣∣∣∣∣∣∣
a b

−a c

−b −c

∣∣∣∣∣∣∣∣∣ =

∣∣∣∣∣∣ c

−c

∣∣∣∣∣∣− a

∣∣∣∣∣∣ −a c

−b

∣∣∣∣∣∣+ b

∣∣∣∣∣∣ −a

−b −c

∣∣∣∣∣∣
= + c − a(−a+ bc) + b(ac+ b)

= + c + a − abc+ bac+ b

= + a + b + c .

−b −a

∣∣∣∣∣∣∣∣∣∣∣

x x x

a x x

b b x

a b c

∣∣∣∣∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣∣∣∣∣

x x x

− ax x− ax x − ax

b− bx − bx x− bx

b− ax c− ax − ax

∣∣∣∣∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣∣∣
− ax x− ax x − ax

b− bx − bx x− bx

b− ax c− ax − ax

∣∣∣∣∣∣∣∣∣
= ( − ax)

∣∣∣∣∣∣∣∣∣
x x

b− bx − bx x− bx

b− ax c− ax − ax

∣∣∣∣∣∣∣∣∣
(−b+ bx)[ ] + [ ]

(−b+ ax)[ ] + [ ]



= ( − ax)

∣∣∣∣∣∣∣∣∣
x x

− bx x− bx

c− bx − bx

∣∣∣∣∣∣∣∣∣
= ( − ax)

∣∣∣∣∣∣ − bx x− bx

c− bx − bx

∣∣∣∣∣∣
= ( − ax)( − bx)

∣∣∣∣∣∣ x

c− bx − bx

∣∣∣∣∣∣
= ( − ax)( − bx)( − cx).

A

det(A) = (− ) + × ×

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣

· · ·
·
·

· ·
· · ·
· · ·

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣
+ (− )n+ × ×

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣

· · ·
·
·

· ·
· · ·
· · ·

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣
= (− ) ( )n− + (− )n+ ( )n− .

c �=∣∣∣∣∣∣∣∣∣
c c

− −
c −c c

∣∣∣∣∣∣∣∣∣
cR +R → R→

∣∣∣∣∣∣∣∣∣
c c

− −
c

∣∣∣∣∣∣∣∣∣ = (− ) + c

∣∣∣∣∣∣ c

− −

∣∣∣∣∣∣ = −c

c �=
det(AB) = det(−BA) AB = −BA

det(A) det(B) = (− )n det(B) det(A).

det(A) = det(A) det(B) = det(A) det(B) = − det(A) det(B) n

B A det(B) =

x =

∣∣∣∣∣∣ −

∣∣∣∣∣∣∣∣∣∣∣∣ −

∣∣∣∣∣∣
=

−
− = y =

∣∣∣∣∣∣
∣∣∣∣∣∣∣∣∣∣∣∣ −

∣∣∣∣∣∣
= − = −

x =

∣∣∣∣∣∣∣∣∣
−

− −

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣
−

−

∣∣∣∣∣∣∣∣∣

=
−
− = y =

∣∣∣∣∣∣∣∣∣
−

−

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣
−

−

∣∣∣∣∣∣∣∣∣

= − z =

∣∣∣∣∣∣∣∣∣ − −

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣
−

−

∣∣∣∣∣∣∣∣∣

= −

⎡⎢⎢⎢⎢⎢⎣
a

0 a

· ∗
an

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
0

· 0

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
a

a

∗ ·
an

⎤⎥⎥⎥⎥⎥⎦ .

∣∣∣∣∣∣∣∣∣∣∣

a

0 a

· ∗
an

∣∣∣∣∣∣∣∣∣∣∣

∣∣∣∣∣∣∣∣∣∣∣
0

· 0

∣∣∣∣∣∣∣∣∣∣∣
= a a · · · an.

⎡⎢⎢⎢⎣
e

en

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

en

e

⎤⎥⎥⎥⎦ i ei

n
n−

n
n

∣∣∣∣∣∣∣∣∣∣∣
0

· 0

∣∣∣∣∣∣∣∣∣∣∣
= det(en, . . . , e ) =

⎧⎨⎩ (− )
n

n

(− )
n−

n



Dn = |A | − (− )|A |

|A | = Dn− A = An−

|A | =

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

− − · · ·
· · ·

· ·
· · · −
· · · −

∣∣∣∣∣∣∣∣∣∣∣∣∣∣
= (− )Dn− ( )

Dn = |A | − (− )(− )Dn− = Dn− −Dn− .

Dn+ = Dn+ −Dn.

A =

⎡⎣ −
⎤⎦ Xn =

⎡⎣ Dn+

Dn

⎤⎦ .
An Xn+ = AnX Xn+ = AXn

A − ( + )A+ ( )I =

A = A −A = ( A− I)−A = A− I A = A− I

An = nA− (n− )I

An = n

⎡⎣ −
⎤⎦− (n− )

⎡⎣ ⎤⎦ =

⎡⎣ n+ −n

n −(n− )

⎤⎦ .

⎡⎣ Dn+

Dn+

⎤⎦ = Xn+ = AnX

=

⎡⎣ n+ −n

n −(n− )

⎤⎦⎡⎣ D

D

⎤⎦

=

⎡⎣ n+ −n

n −(n− )

⎤⎦⎡⎣ ⎤⎦
=

⎡⎣ n+

n+

⎤⎦ .
Dn = n+ Dn+ = n+

n = V = n =

V =

∣∣∣∣∣∣ a

a

∣∣∣∣∣∣ = a − a = (a − a )V .

Vn = (an − a )(an − a ) · · · (an − an− )Vn− .

−an+ n− n −an+ n− Vn+

−an+ n−
n+

Vn+ =

∣∣∣∣∣∣∣∣∣∣∣∣

a · · · an

a · · · an

· ·
an+ · · · ann+

∣∣∣∣∣∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣∣∣∣∣∣

a − an+ a − a an+ · · · an − an+ an−

· · ·
an − an+ an − anan+ · · · ann − ana

n−
n+

· · ·

∣∣∣∣∣∣∣∣∣∣∣∣
= (− )n+ +

∣∣∣∣∣∣∣∣∣
a − an+ a (a − an+ ) · · · an− (a − an+ )

· ·
an − an+ an(an − an+ ) · · · an−n (an − an+ )

∣∣∣∣∣∣∣∣∣
= (− )n(a − an+ )(a − an+ ) · · · (an − an+ )

∣∣∣∣∣∣∣∣∣
a · · · an−

· ·
an · · · an−n

∣∣∣∣∣∣∣∣∣
= (an+ − a )(an+ − a ) · · · (an+ − an)Vn

Vn = (an − an− )(an − an− ) · · · (an − a )Vn− n

Vn− =
∏

≤i<j≤n−
(aj − ai)

Vn = (an−an− )(an−an− ) · · · (an−a )Vn− =
∏
≤i<n

(an−ai)
∏

≤i<j≤n−
(aj−ai) =

∏
≤i<j≤n

(aj−ai).



p(x) =

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

a a · · · an−

a a · · · an−

· ·
an an · · · an−n−

x x · · · xn−

∣∣∣∣∣∣∣∣∣∣∣∣∣∣
x n p(x) n

i ai x p(ai) = i = , . . . n−

p(x) = (x− a )(x− a ) · · · (x− an− )d,

d p(x) p(x) xn− d d

(n, n)

d = (− )n+n

∣∣∣∣∣∣∣∣∣∣∣∣

a · · · an

a · · · an

· ·
an+ · · · ann+

∣∣∣∣∣∣∣∣∣∣∣∣
(∗) x = an d =

∏
≤i<j≤n−

(aj − ai)

det(A+ CD�) =

∣∣∣∣∣∣ A −C

D� Ik

∣∣∣∣∣∣
= det(A) det(Ik −D�A− (−C))

= det(A) det(Ik +D�A− C)

A ∈ Mn(F ) λ ∈ F

det(λA) = det((λI)A) = det(λI) det(A) = λn det(A).

det(Bij) = det(λAij) = λn− det(Aij) B = λA

adj (λA) = adj (B) = [(− )i+j det(Bji)] = [(− )i+jλn− det(Aji)]

= λn− [(− )i+j det(Aji)]

= λn− adj (A).

A = 0 A(adj (A)) = det(A)I

adj (A) A(adj (A)) = 0 det(A) = A �= 0

det(adj (A)) = A = 0

det(A(adj (A))) = det(det(A)I) A(adj (A)) = det(A)I det(A) �=
det(adj (A)) = (det(A))n− det(A) det(adj (A)) = det(A)n

X A

B = diag (
λ
, . . . ,

λn
) XX�

A = B +XX�

detA = det(B +XX�)

= det(B)( +X�B− X)

=
λ · · ·λn

( +X�diag (λ , . . . , λn)X)

=
λ · · ·λn

⎛⎜⎜⎜⎝ + [ · · · ]

⎡⎢⎢⎢⎣
λ

λn

⎤⎥⎥⎥⎦
⎞⎟⎟⎟⎠

=
λ · · ·λn

( + λ + · · ·+ λn).

detA = μ A λ = μ A

XX� X λ �= μ

A = (λ− μ)I + μXX�

detA = det((λ− μ)I + μXX�)

= (det((λ− μ)I))
(

+X� ((λ− μ)I)− (μX)
)

= (λ− μ)n
(

+
λ− μ

I(μX�X)

)
= (λ− μ)n

(
+

nμ

λ− μ

)
.

X A

XY � λn . . . λ Y = (λ , . . . , λn)
�

A = I +XY � (λ , . . . , λn)

detA = det(I +XY �)

= + Y �X



= + λ + · · ·+ λn.

× − = [− ]∣∣∣∣∣∣ A X

Y � −

∣∣∣∣∣∣ = det([− ]) det(A−X[− ]− Y �) = − det(A+XY �).

× Y �A− X A− =
det(A)

adj (A) A

∣∣∣∣∣∣ A X

Y �

∣∣∣∣∣∣ = det(A) det( − Y �A− X)

= − det(A)Y �A− X

= −Y �(det(A)A− )X

= −Y �adj (A)X.

λIm λ �= λ =

∣∣∣∣∣∣ λIm λB

C λIn

∣∣∣∣∣∣ = det(λIm) det(λIn − C(λIm)
− (λB))

= λm det(λIn − Cλ− ImλB)

= λm det(λIn − CB)

λIn∣∣∣∣∣∣ λIm λB

C λIn

∣∣∣∣∣∣ = det(λIn) det(λIm − (λB)(λIn)
− C)

= λn det(λIm − λBλ− InC)

= λn det(λIm −BC)

det(A) adj (A) A

adj (A) A− =
det(A)

adj (A) = ±adj (A) det(A) = ±
det(A) A− A−

det(A) = ± = det(I) = det(AA− ) = det(A) det(A− ) det(A− )

AX = u

det(A+ uv�) = det(A+ AXv�) = det(A) det(I +Xv�)

= det(A)( + v�X).

Y �A = v�

det(A+ uv�) = det(A+ uY �A) = det((I + uY �)A)

= det(I + uY �) det(A)

= ( + Y �u) det(A).

det(A) = ± A−

Y �X ± = det(A) = det(I − XY �) = − Y �X

Y �X =

A− = (I − XY �)− = I − XY �

Y �X − = I − XY �

− = I − XY � = A.

det(A) =
∑

ε(σ)a j · · · akjk · · · anjn
=
∑

ε(σ)a j · · · (xpk + ypk + · · ·+ zpk) · · · anjn
=
∑

ε(σ)a j · · · xpk · · · anjn +
∑

ε(σ)a j · · · ypk · · · anjn
+ · · ·+

∑
ε(σ)a j · · · zpk · · · anjn

= det

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣

A ∗

X

An∗

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦
+ det

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣

A ∗

Y

An∗

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦
+ · · ·+ det

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣

A ∗

Z

An∗

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦

d

dt
det(A)=

d

dt

∑
ε(σ)a j a j · · · anjn

=
∑

ε(σ)
d

dt
a j a j · · · anjn

=
∑

ε(σ)(a′ j a j · · · anjn + a j a
′
j · · · anjn + · · · a j a j · · · a′njn)

=
∑

ε(σ)a′ j a j · · · anjn +
∑

ε(σ)a j a
′
j · · · anjn + · · ·

+
∑

ε(σ)a j a j · · · a′njn
=det(D ) + det(D ) + · · ·+ det(Dn).



u+ v = u+ w −u

−u+ (u+ v) = −u+ (u+ w) =⇒ (−u+ u) + v = (−u+ u) + w =⇒ + v = + w =⇒ v = w.

v = v = ( + )v = v+ v u = u = u+u

v = (− + )v = (− )v + v = (− )v + v a = a = ( + )a = a+ a

(− )v = −v

v = v = (a− a)v = a− (av) = a− av = a− a �=
a = −(av) = (−a)v (−a)v + av = (−a + a)v = v =

−(av) = a(−v) av + a(−v) = a(v + (−v)) =

W u ∈ U U �⊆ W W ⊆ U U �⊆ W

u + w ∈ U u + w ∈ U ∪W U ∪W u,w ∈ U ∪W w ∈ W

u+ w ∈ U u = (u+ w)− w ∈ W W u+ w ∈ W u+ w ∈ W

W ⊆ U w = (u+ w)− u ∈ U U

V n

V =
n⋃

i=

Vi V Vn . . . V V n ≥ n

λ ∈ F u ∈ S \ V v ∈ V \ S S �⊆ V V �⊆ S n S =
n⋃

i=

Vi

V λv + u ∈ V

u = −λv + (λv + u) ∈ V

S =
n⋃

i=

Vi λv + u ∈ S λ ∈ F λv + u /∈ V λ ∈ F

λ, μ ∈ F ≤ i ≤ n F

λ− μ (λv + u)− (μv + u) = (λ− μ)v ∈ Vi Vi λv + u, μv + u ∈ Vi

v ∈ S v ∈ Vi

n V n

S =
n⋃

i=

Vi V =
n⋃

i=

Vi V Vn . . . V V

x+ λi n+ λn+ . . . λ λ n+ y ∈ V \ V x ∈ V \ S

Vr x+ λiy x+ λjy V =
n⋃

i=

Vi i = , . . . , n+



x+ λiy ∈ Vr r > y ∈ Vr (λi − λj)y = x+ λiy− (x+ λjy) ∈ Vr

x = x+ λyy − λiy ∈ Vr y ∈ Vr

Z Z = { , }
Z V := Z × Z = {( , ), ( , ), ( , ), ( , )}
V W = {( , ), ( , )} W = {( , ), ( , )} W = {( , ), ( , )}

V = W ∪W ∪W

B =

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦ .

c , c , c ∈ R

c X + c X + c X = B

AX = B

A = [X X X ] =

⎡⎢⎢⎢⎢⎢⎣
−

−
−

−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎣
c

c

c

⎤⎥⎥⎥⎦ .

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

−

⎤⎥⎥⎥⎥⎥⎦ R ↔ R →

⎡⎢⎢⎢⎢⎢⎣
−

−
− −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎥⎥⎦

−R +R → R
R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ .

span {X ,X ,X } B = −X + X +X c = − c = c =

B =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦ .
c , c , c ∈ R

c X + c X + c X = B

AX = B

A = [X X X ] =

⎡⎢⎢⎢⎢⎢⎣ −
− −

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎣
c

c

c

⎤⎥⎥⎥⎦ .

⎡⎢⎢⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎥⎥⎦
−R +R → R

− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −
− − −

−

⎤⎥⎥⎥⎥⎥⎦
− R +R → R

− R +R → R→
R +R → R

−R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦



−R +R → R

R +R → R→
R +R → R

−R → R

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦
B c + c + c =

X =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦ .
c , c , c ∈ R

c X + c X + c X = 0

AX = 0

A = [X X X ] =

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎣
c

c

c

⎤⎥⎥⎥⎦ .

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦
R +R → R
−R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎥⎥⎦

R / → R →

⎡⎢⎢⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R
R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦
c = c = c =

X =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

c , c , c ∈ R

c X + c X + c X = 0

AX = 0

A = [X X X ] =

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎣
c

c

c

⎤⎥⎥⎥⎦ .

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦
R +R → R

− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

c = −c c = c

−X + X +X = 0 c = c = − c =



X =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦ .
c , c , c ∈ R

c X + c X + c X = 0

AX = 0

A = [X X X ] =

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎣
c

c

c

⎤⎥⎥⎥⎦ .

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦
R +R → R

− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣ − −
−

⎤⎥⎥⎥⎥⎥⎦ .

c = c = c =

A =

⎡⎣ ⎤⎦ , A =

⎡⎣ −
−

⎤⎦ , A =

⎡⎣ −
⎤⎦ , A =

⎡⎣ −
−

⎤⎦ .
c , c , c , c ∈ R

c A + c A + c A + c A = 0

⎡⎣ c − c − c c − c

c + c − c c − c + c

⎤⎦ = 0.

c = c c − c + c = c − c − c = c = c c − c =

c = c c = c = c c = c + c c + c − c =

x ∈ span (X) = span (X \ {x}) span (X) = span (X \ {x}) =⇒
x ∈ span (X \ {x})

span (X \ {x}) ⊆ span (X) X \ {x} ⊆ X x ∈ span (X \ {x}) ⇐=

X x ∈ span (X \ {x}) span (X) ⊆ span (X \ {x})
span (X \ {x})

a , a , . . . , an− ∈ F V j = , , . . . , n Cj

a C + a C + · · ·+ an− Cn = 0

V

⎡⎢⎢⎢⎢⎢⎢⎣
a

a

an−

⎤⎥⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎥⎦

a + a xi + a xi + · · ·+ an− xn−
i = , i = , , . . . ,m.

p(x) = a + a x + · · · + an− xn− i = , . . . ,m xi

p(x) = m ≥ n > n − m p(x) n − n −
V a = a = · · · = an− =

n xi n (xn, yn) . . . (x , y ) (x , y )

i = , , . . . , n f(xi) = yi f(x) = a + a x+ a x + · · ·+ anx
n

λ ∈ F u = (an), v = (bn) ∈ W W ( ) + =

an + bn = (an− + an− ) + (bn− + bn− ) = (an− + bn− ) + (an− + bn− )

λan = λ(an− + an− ) = λan− + λan− .

W (an) V W λu = (λu) ∈ W u+ v = (an + bn) ∈ W

a = a + a , a = a + a = a + a , a = a + a = a + a , a = a + a , . . .



(an) = (a , a , a , . . .)

= (a , a , a + a , a + a , a + a , . . .)

= a ( , , , , , , . . .) + a ( , , , , , , . . .)

{( , , , , , , . . .), ( , , , , , , . . .)} W

R R { } R C R C { , i}
R R

AB = BA B ∈ W B =

⎡⎣ a b

c d

⎤⎦

AB =

⎡⎣ −
⎤⎦⎡⎣ a b

c d

⎤⎦ =

⎡⎣ a− c b− d

c d

⎤⎦
BA =

⎡⎣ a b

c d

⎤⎦⎡⎣ −
⎤⎦ =

⎡⎣ a −a+ d

c −c+ d

⎤⎦ .
B b = d− a c =⎡⎣ a d− a

d

⎤⎦ = a

⎡⎣ −
⎤⎦+ d

⎡⎣ ⎤⎦ .
W⎧⎨⎩

⎡⎣ −
⎤⎦ ,
⎡⎣ ⎤⎦⎫⎬⎭ .

A = [aij]

A� = −A ⇐⇒ [aji] = −[aij] ⇐⇒ ∀ ≤ i, j ≤ n, aji = −aij.

A aii = i = , . . . aii = −aii

A =
∑
≤i,j≤n

aijEij

=
∑

≤i<j≤n

aijEij +
∑

≤j<i≤n

aijEij

=
∑

≤i<j≤n

aijEij +
∑

≤j<i≤n

(−aji)Eij

=
∑

≤i<j≤n

aijEij +
∑

≤i<j≤n

(−aij)Eji

=
∑

≤i<j≤n

aij(Eij − Eji).

W = {A ∈ Mn(R) | A� = −A} {Eij − Eji | ≤ i < j ≤ n}
A = diag (λ , . . . , λn)

A =
n∑

i=

λiEii

{Eii | ≤ i ≤ n}
aij = i > j A = [aij]

A =
n∑

≤i≤j≤n

aijEij

{Eij | ≤ i ≤ j ≤ n}
aij = aji ≤ i, j ≤ n A = [aij]

A =
n∑

≤i,j≤n

aijEij

=
n∑

≤i<j≤n

aijEij +
n∑

≤j<i≤n

aijEij +
n∑

i=

aiiEii

=
n∑

≤i<j≤n

aijEij +
n∑

≤j<i≤n

ajiEij +
n∑

i=n

aiiEii

=
n∑

≤i<j≤n

aijEij +
n∑

≤i<j≤n

aijEji +
n∑

i=

aiiEii

=
n∑

≤i<j≤n

aij(Eij + Eji) +
n∑

i=

aijEii

{Eij + Eji | ≤ i < j ≤ n} ∪ {Eii | ≤ i ≤ n}

X = ( , , , , ), X = ( , , , , ), X = ( , ,− , , ), X = ( , , , , ).

R



⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦
−R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− − − −

⎤⎥⎥⎥⎥⎥⎦

R ↔ R →

⎡⎢⎢⎢⎢⎢⎣ − − − −
−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎥⎥⎦

−R → −R
R +R →R →−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

{( , ,− , , ), ( , , , , ), ( , , , , )}
A

c (AX ) + · · ·+ cn(AXn) = 0 =⇒ A(c X + · · ·+ cnXn) = 0

=⇒ A− A(c X + · · ·+ cnXn) = A− 0

=⇒ c X + · · ·+ cnXn = 0

=⇒ c = · · · = cn =

n n {AX , . . . , AnXn}
F n {AX , . . . , AnXn} dimF n = n n

X = 0 AX = 0 F n {AX , . . . , AnXn}
{X , . . . , Xn} AX = 0 X A

X = c X + · · ·+ cnXn c , . . . , cn ∈ F F n

0 = AX = A(c X + · · ·+ cnXn) = c (AX ) + c (AX ) + · · ·+ cn(AXn)

AX = 0 X = 0 c = · · · = cn = F n {AX , . . . , AnXn}
X = 0

V Y X Y V X

V Y = X n = dimV = |Y | < |X| = n X Y

Y X Y X

Y = X n = |X| < |Y | = dimV = n Y X V

V

R R dimR =

R

B =

⎡⎢⎢⎢⎣
a

b

c

⎤⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ .
c , c , c ∈ R

c X + c X + c X = B

AX = B

A = [X X X ] =

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦ , X =

⎡⎢⎢⎢⎣
c

c

c

⎤⎥⎥⎥⎦ .

⎡⎢⎢⎢⎣
− a

− b

− c

⎤⎥⎥⎥⎦ −R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− − −a

a+ b

a+ c

⎤⎥⎥⎥⎦
−R ↔ R
R / → R →
R / → R

⎡⎢⎢⎢⎣
− − −a

a+c

a+b

⎤⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎣
− − c−a

a+c

a+b

⎤⎥⎥⎥⎦



R +R → R→

⎡⎢⎢⎢⎣
b+c

a+c

a+b

⎤⎥⎥⎥⎦ .
B = (a, b, c) R A = {X ,X ,X }

[B]A = ( b+c , a+c , a+b)

+ x+ x = a× + b(x− ) + c(x− )(x+ ) a, b, c ∈ F

+ x+ x = a× + b(x− ) + c(x− )(x+ ) = a+ b− c+ bx+ cx

b = c = a = c = b = a+ b− c =

p(x) = a+ bx+ cx + dx ∈ W ⇐⇒ a = p( ) = ⇐⇒ p(x) = bx+ cx + dx .

W {x, x , x }

p(x) = a+ bx+ cx + dx ∈ W ⇐⇒ b+ cx+ dx = p′(x) = ⇐⇒ p(x) = a.

W { }

p(x) = a+ bx+ cx + dx ∈ W ⇐⇒ p(x) = p(−x)

⇐⇒ a+ bx+ cx + dx = a− bx+ cx − dx

⇐⇒ a = d =

⇐⇒ p(x) = bx+ cx .

W {x, x }

p(x) = a+ bx+ cx + dx ∈ W ⇐⇒ c = p′′( ) = ⇐⇒ p(x) = a+ bx+ dx .

W { , x, x }

f (x) = x f (x) = x − x f (x) = x + x f (x) = x −
F [x] { , x, x, , x }⎡⎢⎢⎢⎢⎢⎣

−
⎤⎥⎥⎥⎥⎥⎦

−R → R →−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦

−R +R → R
R +R → R→

R ↔ R

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

{ , x , x }

p (x) = a ,

p (x) = a , x+ a ,

p (x) = a , x + a , x+ a ,

pn− (x) = an− ,n− xn− + an− ,n− xn− + · · ·+ an− , x + an− , x+ an− ,

pn(x) = an,nx
n + an,n− xn− + an,n− xn− + · · ·+ an, x + an, x+ an,

{xn, xn− , . . . , x, } {pn(x), pn− , . . . , p (x), p (x)}⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

an,n an,n− an,n− · · · an, an, an,

an− ,n− an− ,n− · · · an− , an− , an− ,

a , a , a ,

a , a ,

a ,

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
n+ F Fn+ [x] n+

Fn+ [x]

a a �= W {x} f(x) = x ∈ W a a =

W { , x} f(x) =
a
x− ∈ W



wk+ , . . . , wn ∈ W U {w ,w , . . . , wk}
W = span {w ,w , . . . , wm} W {w ,w , . . . , wk, wk+ , . . . , wn}

dimW = m U ⊆ W ⊆ W

Ai A
( )
i m ≥ n + W B = {A ,A , . . . , Am}

c , . . . , cm ∈ R m ≥ n+

c A
( )

+ c A
( )

+ · · ·+ cmA
( )
m = 0.

A ∈ W A A = c A + c A + · · ·+ cmAm

A A A �= 0 B ci

A

≤ i, j ≤ n AB = BA B ∈ W

[AB]ij =
n∑

k=

[A]ik[B]kj = ci[B]ij [BA]ij =
n∑

k=

[B]ik[A]kj = [B]ijcj

[B]ij = ci �= cj i �= j (ci − cj)[B]ij = ci[B]ij = [B]ijcj

dimW = n B i �= j

≤ i, j ≤ n AB = BA B ∈ W

[AB]ij =
n∑

k=

[A]ik[B]kj = ci[B]ij [BA]ij =
n∑

k=

[B]ik[A]kj = [B]ijcj

[B]ij = ci �= cj i �= j (ci − cj)[B]ij = ci[B]ij = [B]ijcj

di × di Bi B = diag (B , . . . , Bk) B i �= j

dimW = d + · · ·+ dk

A I A PA P

P⎡⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎦ − R +R → R

→

⎡⎢⎢⎢⎣
−

− −
−

⎤⎥⎥⎥⎦
R +R → R

→
−R +R → R

⎡⎢⎢⎢⎣
− −
− −

− −

⎤⎥⎥⎥⎦

R +R → R

R +R → R

→
R → R

⎡⎢⎢⎢⎣
− −
− −

− −

⎤⎥⎥⎥⎦ .

PA = R

P =

⎡⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎦ , R =

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ .
Q R A

PAQ = RQ⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−
−

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

C + C → C

− C + C → C

→
C + C → C

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

C ↔ C

→

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
.

Q =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ PAQ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

λ , . . . , λn ∈ F ⇐=

B ∈ span {C , . . . , Cn} λ C + λ C + · · ·+ λnCn = B



span {C , . . . , Cn} ⊆ span {C , . . . , Cn, B} ⇐=

span {C , . . . , Cn, B} ⊆ span {C , . . . , Cn} B ∈ span {C ,C , . . . , Cn}
span {C , . . . , Cn} = span {C , . . . , Cn, B}

span {C , . . . , Cn} ⊆ span {C , . . . , Cn, B} ⇐=

dim span {C , . . . , Cn} = dim span {C , . . . , Cn, B}
B ∈ span {C ,C , . . . , Cn} span {C , . . . , Cn} = span {C , . . . , Cn, B}

λ C + λ C + · · · + λnCn = B λ , . . . , λn ∈ F

U

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦
−R +R → R

→
− R +R → R

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦

−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
W U {( , ,− ,− ), ( , , , )}

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
− R +R → R

→
−R +R → R

⎡⎢⎢⎢⎣
−

− −
−

⎤⎥⎥⎥⎦
−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦
W U W {( , ,− , ), ( , , ,− )}

U +W

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

− −

⎤⎥⎥⎥⎥⎥⎦
R +R → R

− R +R → R

→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦
U +W {( , , , ), ( , , ,− ), ( , , , )}

U⎧⎨⎩ ( , ,− ,− )X� =

( , , , )X� =

⎧⎨⎩ x− z − w =

y + z + w =

(x, y, z, w) = ( z + w,− z − w, z, w) = z( ,− , , ) + w( ,− , , ).

U {( ,− , , ), ( ,− , , )}

⎧⎨⎩ ( ,− , , )X� =

( ,− , , )X� =

⎧⎨⎩ x− y + z =

x− y + w = .

W⎧⎨⎩ ( , ,− , )X� =

( , , ,− )X� =



⎧⎨⎩ x+ y + z − w =

−y − z + w =

⎧⎨⎩ x− z =

−y − z + w =

(x, y, z, w) = ( z,− z + w, z, w) = z( ,− , , ) + w( , , , )

W {( ,− , , ), ( , , , )}
⎧⎨⎩ ( ,− , , )X� =

( , , , )X� =⎧⎨⎩ x− y + z =

y + w = .

U ∩W W U⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩

x− y + z =

x− y + w =

x− y + z =

y + w = .

U ∩W

x = y z =

x = y w = −y

U⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦
− R +R → R

→
− R +R → R

⎡⎢⎢⎢⎣ − − −
− − −

⎤⎥⎥⎥⎦
−R +R → R

R +R → R

→
− R → R

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

W U {( , , , ), ( , , ,− )}⎡⎣ −
−

⎤⎦ − R +R → R

→

⎡⎣ −
⎤⎦

R +R → R

→

⎡⎣ ⎤⎦
U +W W U W {( , , , ), ( , , , )}

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦
− R +R → R

−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎥⎥⎦

− R → R

→
R ↔ R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦

→

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
U + W = R U + W {( , , , ), ( , , , ), ( , , , ), ( , , , )}

U ∩W = { }
U⎡⎢⎢⎢⎣

−
−
− −

⎤⎥⎥⎥⎦
−R +R → R

→
− R +R → R

⎡⎢⎢⎢⎣
−
− −

− −

⎤⎥⎥⎥⎦



− R +R → R

→
R +R → R

⎡⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎦
W U {( , , ,− , ), ( , ,− , ,− )}⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦
−R +R → R

→
− R +R → R

⎡⎢⎢⎢⎣ −
− − −

⎤⎥⎥⎥⎦
R +R → R

→
R +R → R

⎡⎢⎢⎢⎣
− −

− − −

⎤⎥⎥⎥⎦
U +W W U W {( , , , ), ( , , , )}

⎡⎢⎢⎢⎢⎢⎣
−

− −
− −

− − −

⎤⎥⎥⎥⎥⎥⎦
−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− −
−

−

⎤⎥⎥⎥⎥⎥⎦
R +R → R

R +R → R

→
− R +R → R

R → R

⎡⎢⎢⎢⎢⎢⎣
−

− −
−

⎤⎥⎥⎥⎥⎥⎦

R +R → R

→
−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎥⎥⎦
U +W {( , , ,− , ), ( , , , ,− ), ( , , , ,− )}

U⎧⎨⎩ ( , , ,− , )X� =

( , ,− , ,− )X� =

⎧⎨⎩ x + x − x + x =

x − x + x − x =

(x , x , x , x , x ) = (−x + x − x , x − x− + x , x , x , x )

= x (− , , , , ) + x ( ,− , , , ) + x (− , , , , )

U {(− , , , , ), ( ,− , , , ), (− , , , , )}
⎧⎪⎪⎪⎨⎪⎪⎪⎩

(− , , , , )X� =

( ,− , , , )X� =

(− , , , , )X� =

⎧⎪⎪⎪⎨⎪⎪⎪⎩
−x + x + x =

x − x + x =

− x + x + x = .

W⎧⎨⎩ ( , , ,− ,− )X� =

( , ,− , , )X� =

⎧⎨⎩ x + x − x − x =

x − x + x + x =

(x , x , x , x , x ) = (− x + x + x , x − x − x , x , x , x )

= x (− , , , , ) + x ( ,− , , , ) + x ( ,− , , , )

W {(− , , , , ), ( ,− , , , ), ( ,− , , , )}
⎧⎪⎪⎪⎨⎪⎪⎪⎩

(− , , , , )X� =

( ,− , , , )X� =

( ,− , , , )X� =



⎧⎪⎪⎪⎨⎪⎪⎪⎩
− x + x + x =

x − x + x =

x − x + x = .

U ∩W⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

−x + x + x =

x − x + x =

− x + x + x =

− x + x + x =

x − x + x =

x − x + x = .

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−
−

−
−

−
−

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

−R +R → R

−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−
−

−
−

−

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
− R +R → R

R +R → R

− R +R → R

→
R +R → R

R → R

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−
−
−

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
x = x x = x x = x x = − x

U ∩ V = {(x , x ,− x , x , x ) | x ∈ R} = span {( , ,− , , )}.

U⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎦

R +R → R

→
− R +R → R

−R → R

⎡⎢⎢⎢⎣ − − −

⎤⎥⎥⎥⎦
W U {( , , , , ), ( , ,− ,− ,− )}⎡⎢⎢⎢⎣

− − −
− −

−

⎤⎥⎥⎥⎦ R +R → R

→

⎡⎢⎢⎢⎣
− − −
− −

−

⎤⎥⎥⎥⎦
R +R → R

− R +R → R

→
−R → R

⎡⎢⎢⎢⎣
− −
−

⎤⎥⎥⎥⎦
W U W {( , ,− , ,− ), ( , ,− , , )}

U +W

⎡⎢⎢⎢⎢⎢⎣
− − −
− −
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −
− − −

⎤⎥⎥⎥⎥⎥⎦
R +R → R

− R +R → R

→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−
− − −

−

⎤⎥⎥⎥⎥⎥⎦
dim(U +W ) =

dim(U ∩W ) = dimU + dimW − dim(U + V ) = + − =

U ∩W = { }
W⎧⎪⎪⎪⎨⎪⎪⎪⎩

( , , , )X� =

( , ,− , )X� =

(− , , , )X� =



⎧⎪⎪⎪⎨⎪⎪⎪⎩
x + x + x =

x + x − x + x =

−x + x + x = .

⎡⎢⎢⎢⎣ −
−

⎤⎥⎥⎥⎦
−R +R → R

−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎣ − − −

⎤⎥⎥⎥⎦
−R +R → R

→
R +R → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
x = −x − x x = x + x

(x , x , x , x ) = ( x + x ,−x − x , x , x ) = x ( ,− , , ) + x ( ,− , , ).

⎧⎨⎩ ( ,− , , )X� =

( ,− , , )X� =

⎧⎨⎩ x − x + x =

x − x + x = .

v , v , . . . , vm ∈ V U {u , u , . . . , uk}
V = U ⊕W W = span {v , v , . . . , vm} {u , u , . . . , uk, v , v , . . . , vm}

dim(U +W ) = dimU + dimW V = U +W

dim(U +W ) = dimU + dimW − dim(U ∩W )

V = U ⊕W U ∩W = { } dimU ∩W ) = { }
m m =

dim(V + · · · + Vm) = dimV + · · · + dimVm V Vm . . . V

V Vm+ . . . V m + V + · · · + Vm = V ⊕ · · · ⊕ Vm

U = V + · · · + Vm dim(V + · · · + Vm+ ) = dimV + · · · + dimVm+

U = V ⊕ · · · ⊕ Vm dimU = dim(V + · · · + Vm) = dimV + · · · + Vm

dim(U + Vm+ ) = dimU + dimVm+

V + · · ·+ Vm + Vm+ = U + Vm+ = U ⊕ Vm+ = V ⊕ · · · ⊕ Vm ⊕ Vm+ .





T (e ) = T ( , , ) = ( , , ) = e + e + e

T (e ) = T ( , , ) = ( , , ) = e + e + e

T (e ) = T ( , , ) = (− , , ) = − e + e

A = {e , e , e } T

A := [T ]A =

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦

B = {v , v , v } T

T (v ) = T ( , , ) = ( , , ) = v

T (v ) = T (− , , ) = (− , , ) = v

T (v ) = T ( , , ) = ( , , ) = v

B T

[T ]B =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

T A AX = B T

A B = (a, b, c)�⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ R ↔ R

→

⎡⎢⎢⎢⎣ −
−

⎤⎥⎥⎥⎦
−R +R → R

→
− R +R → R

⎡⎢⎢⎢⎣ − −
− − −

⎤⎥⎥⎥⎦
−R +R → R

→
R +R → R

⎡⎢⎢⎢⎣
−

− −
− −

⎤⎥⎥⎥⎦

− R → R

→

⎡⎢⎢⎢⎣
−

− −
− −

⎤⎥⎥⎥⎦
−R +R → R

→
−R +R → R

⎡⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎦
A

A− =

⎡⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎦ .

T− (a, b, c) = A−

⎡⎢⎢⎢⎣
a

b

c

⎤⎥⎥⎥⎦ = (a− b+ c,−a+ b+ c,−a− b+ c).

B = [T ]B A = [T ]A

A− I =

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦−
⎡⎢⎢⎢⎣

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦

A− I =

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦−
⎡⎢⎢⎢⎣

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦

(A− I)(A− I) =

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

−
−

−

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

w {u, v} v = (− , , ) u = ( , , )

R {u, v, w} w = ( , , )

T

A = {e , . . . , en} B = PAP− P B A

P P P i Xi B = {X , . . . , Xn} F n



T P− = [id]BA A → B P− P = [id]AB B → A

A = [T ]AA TX = AX A

[T ]BB = [id]AB [T ]AA [id]BA = PAP− = B.

Ij Eij xk X

F n i T (
xk
Eik) = xk

EikX = ei

T Im (T ) = F n Im (T )

j ej TAej = Aej = Aj A j Aj

X i xi X = x e + · · ·+ xnen X ∈ F

Im (T ) = {TX | X ∈ F n}
= {T (x e + · · ·+ xnen) | x , . . . , xn ∈ F}
= {x Te + · · ·+ xnTen | x , . . . , xn ∈ F}
= {x A + · · ·+ xnAn | x , . . . , xn ∈ F}
= span {A , . . . , An}.

Im (T ) = span {A , . . . , An}

X ∈ ker(T ) ⇐⇒ TX = 0

⇐⇒ T (x e + · · ·+ xnen) = 0

⇐⇒ x Te + · · ·+ xnTen = 0

⇐⇒ x A + · · ·+ xnAn = 0

ker(T ) = {0} T

T k = 0 k j = , , , . . . T k+j = 0

{v, Tv, T v, . . . , T k− v} T k− = v �= v ∈ V T k− = 0

V

c v + c Tv + c T v + · · ·+ ck− T k− v =

T k−

= T = T k− (c v + c Tv + c T v + · · ·+ ck− T k− v)

= c T k− v + c T kv + c T k+ v + · · ·+ ck− T k− v

= c T k− v

c = T k− v �=

c Tv + c T v + · · ·+ ck− T k− v =

c = T k−

V {v, Tv, T v, . . . , T k− v} c = · · · = ck− =

k ≤ n dimV = n

T n = T n−k+k = T n−kT k = .

trace(AB) =
n∑

i=

[AB]ii

=
n∑

i=

n∑
k=

[A]ik[B]ki

=
n∑

k=

n∑
i=

[B]ki[A]ik

=
n∑

k=

[BA]kk

= trace(BA)

AB − BA = I A,B ∈ Mn(F )

n = trace(I) = trace(AB − BA) = trace(AB)− trace(BA) = ,

A = {e , e , e } T

A =

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦ .



z = x = y AX = 0

ker(T ) = {(x, y, z) ∈ R | T (x, y, z) = ( , , , )} = {(x, x, ) | x ∈ R} = span {( , , )}.

Im (T )

Im (T ) = {TX | X ∈ R } = {T (xe + ye + ze ) | x,∈ R }
= {xTe + yTe + zTe | x, y, z ∈ R}
= span {Te , Te , Te }
= span {( , , , ), (− ,− ,− ,− ), ( , ,− , )}.

{( , , , ), (− ,− ,− ,− ), ( , ,− , )}

⎡⎢⎢⎢⎣− − − −
−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−
−

⎤⎥⎥⎥⎦

Im (T ) = span {( , , ,− ), ( , ,− , )}.

A = {e , e , e } T

A =

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ .
AX = 0

A =

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

− −
−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−
−

⎤⎥⎥⎥⎦
T T ker(T ) = {( , , )} X = 0 x = y = z =

A = {e , e , e } T

A =

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ .

AX = 0

A =

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

− −
− −

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

⎤⎥⎥⎥⎦
x = − z y = −z

ker(T ) = {(x, y, z) ∈ R | T (x, y, z) = ( , , )} = {(− z,−z, z) | z ∈ R} = span {( , , )}.

Im (T )

Im (T ) = {TX | X ∈ R } = {T (xe + ye + ze ) | x,∈ R }
= {xTe + yTe + zTe | x, y, z ∈ R}
= span {Te , Te , Te }
= span {( , , ), (− ,− , ), ( , , )}.

{( , , ), (− ,− , ), ( , , )}

⎡⎢⎢⎢⎣− −

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣ −

−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦

Im (T ) = span {( , , ), ( , ,− )}.

AX = 0

A =

⎡⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−
−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

⎤⎥⎥⎥⎦
TA TA ker(A) = {( , , )} X = 0 x = y = z =

AX = 0

A =

⎡⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−
−

−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−
−
−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−
−

−

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−

−

⎤⎥⎥⎥⎦



TA TA ker(A) = {( , , )} X = 0 x = y = z =

AX = 0

A =

⎡⎢⎢⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎥⎥⎦�
⎡⎢⎢⎢⎢⎢⎣

−
−

−
−

⎤⎥⎥⎥⎥⎥⎦�
⎡⎢⎢⎢⎢⎢⎣

−

−
−

⎤⎥⎥⎥⎥⎥⎦�
⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦
TA ker(A) = {( , , )} X = 0 x = y = z =

i ei Im (T )

Im (TA) = span {Ae ,Ae ,Ae } = span {( , , , )�, ( , , , )�, (− ,− ,− , )�}.

Im (TA)

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

− −
⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−
⎤⎥⎥⎥⎦�

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦
Im (TA)

{( , , ,− )�, ( , , ,− )�, ( , , , )�}.

AX = 0

A =

⎡⎢⎢⎢⎢⎢⎣
−

−
−

−

⎤⎥⎥⎥⎥⎥⎦�
⎡⎢⎢⎢⎢⎢⎣

−
−

⎤⎥⎥⎥⎥⎥⎦�
⎡⎢⎢⎢⎢⎢⎣

−
−

⎤⎥⎥⎥⎥⎥⎦�
⎡⎢⎢⎢⎢⎢⎣

−
−

−
−

⎤⎥⎥⎥⎥⎥⎦
TA ker(A) = {( , , )} X = 0 x = y = z =

i ei Im (T )

Im (TA) = span {Ae ,Ae ,Ae } = span {( , ,− , )�, (− , , , )�, ( ,− , ,− )�}.

Im (TA)

⎡⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣ − − −

− −

⎤⎥⎥⎥⎦�
⎡⎢⎢⎢⎣

−
−
−

⎤⎥⎥⎥⎦

Im (TA)

{( , ,− , )�, ( , , ,− )�, ( , , ,− )�}.

T

kerT = {A ∈ Mn(F ) | TA = 0}
= {A ∈ Mn(F ) | A− A� = 0}
= {A ∈ Mn(F ) | A� = A}

T

ImT = {B ∈ Mn(F ) | ∃A ∈ Mn(F ), B = TA}
= {B ∈ Mn(F ) | ∃A ∈ Mn(F ), B = A− A�}
= {B ∈ Mn(F ) | B� = −B}

V A = {v , v , . . . , vn} TV = W T

dimW ≤ n = dimV W W = TV {Tv , Tv , . . . , T vn}
vi i = , , . . . , k T W {w , . . . , wk}

i = , . . . , k i = , . . . , k Swi = vi S : W −→ V wi = Tvi

TSwi = Tvi = wi

TS = idW

TV {w ,w , . . . , wk} TV dimW < ∞ W TV

B = {v , v , . . . , vk} wi = Tvi vi i = , , . . . , k

λi Tv ∈ TV v ∈ V V

Tv = λ Tv + · · ·+ λkTvk = T (λ v + · · ·+ λkvk)

B V v = λ v + · · · + λkvk T

λ v + · · ·+ λkvk =

= T ( ) = T (λ v + · · ·+ λkvk) = λ Tv + · · ·+ λkTvk

V B λ = · · · = λk =

wi = Tvi vi i = , , . . . , k TV {w ,w , . . . , wk}



W {w ,w , . . . , wk} u , . . . ur,∈ W

i = , . . . , r Sui = i = , . . . , k Swi = vi S : W −→ V

i = , . . . , k V B = {v , v , . . . , vk}

STvi = Swi = vi

ST = idV

kerA {X ,X , . . . , Xn− }
Yn = AXn ImA {Yn} F n {X ,X , . . . , Xn− , Xn}

AYn = λYn λ AYn ∈ ImA

A Xi = AAXi = A0 = 0 = λAXi, = , , . . . , n− ,

A Xn = AAXn = AYn = λYn = λAXn

A = λA

T (ei) = ei i = , . . . , k T (ei) = T Rn A = {e , . . . , en}
dimkerT = k kerT {e , . . . , ek} i = k + , . . . , n

AC = 0 C r = rank(A) < n

AC = 0 0 �= C ∈ Mn(F ) C = [X X · · ·X] X �= 0 AX = 0

C �= 0 C i Ci AC = 0 0 �= C ∈ Mn(F )

AX = 0 ACj = 0 Cj �= 0 ≤ j ≤ n AC = 0

r < n n− r >

BA = 0 B r = rank(A) < m

A�C = 0 0 �= C ∈ Mm(F ) rank(A�) = rank(A) < m

C�A = 0

A�B� = 0 BA = 0 0 �= B ∈ Mm(F )

rank(A) < m rank(A�) < m

T : F n −→ F n

T {u , . . . , uk} TS = ST = 0 S : F n −→ F n

ImT wi = Tvi {w . . . , wr} V {u , . . . , uk, v , . . . , vr}
Syi = ui i = , . . . , r Swi S : V −→ V V {w , . . . , wr, y , . . . , yk}

i = , . . . , k

STui = S( ) = , i = , . . . , k STvi = Swi = , i = , . . . , r

ST = 0

TSwi = T ( ) = , i = , . . . , r TSyi = Tui = , i = , . . . , k

TS = 0

T = RS rank(R) ≤ m m = nul (R) + rank(R)

ImT ⊆ ImR

rank(T ) ≤ rank(R) ≤ m < n

T

{Tv, T v, . . . , T n− } ⊆ ImT T n− v �= v ∈ V T n− �= 0

rank(T ) ≤ n− T rank(T ) ≤ n−
A rank(T ) = n−

T = 0 v ∈ V w = Tv ∈ ImT ImT ⊆ kerT

ImT ⊆ kerT w ∈ kerT Tw = TTv = T v =

rank(T ) = dim ImT ≤ dimkerT = nul (T ).

n = rank(T ) + nul (T ) ≥ rank(T ) + rank(T ) = rank(T )

w , . . . , wr ∈ F n ker(T ) {v , . . . , vk}
ui = Twi ImT {u , . . . , ur} V {v , . . . , vk, w , . . . , wr}

R : F r −→ F n S : F n −→ F r F r {e , . . . , er}

Svi = , i = , . . . , k, Swi = ei, i = , . . . , r

Rei = ui, i = , . . . , r

R S

RSvi = R = = Tvi, i = , . . . , k

RSwi = Rei = ui = Twi, i = , . . . , r

RS = T



ker(T ) ∩ Im (T ) = { }

v ∈ ker(T ) ∩ Im (T ) =⇒ Tv = ∃w ∈ V, v = Tw

=⇒ w = T w = TTw = Tv =

=⇒ v = Tw = T =

v − Tv ∈ ker(T ) T (v − Tv) = Tv − T v = Tv − Tv = v ∈ V

v = Tv + (v − Tv) ∈ Im (T ) + ker(T )

V = Im (T ) + ker(T )

w = T (Tv) ∈ ImT w = T v v ∈ V w ∈ ImT

dimV = n ImT = ImT ImT ⊆ ImT

nul (T ) = n− rank(T ) = n− rank(T ) = nul (T ).

kerT ⊆ kerT = T = T v Tv = ∈ kerT

ker(T ) = ker(T )

v ∈ ker(T ) ∩ Im (T ) =⇒ Tv = ∃w ∈ V, v = Tw

=⇒ = Tv = TTw = T w

=⇒ w ∈ ker(T ) = ker(T )

=⇒ v = Tw = .

V

Im (T ) ⊇ Im (T ) ⊇ Im (T ) ⊇ · · ·

Im (T k) = Im (T k+ ) k V

Im (T k+i) = T k+iV = T i(T kV ) = T iT k+ V = T k+i+ V = Im (T k+i+ )

ker(T k)∩ Im (T k) = { } T k = T k Im (T k) = Im (T k+i) i = , , . . .

dim(kerT k + ImT k) = dimker(T k) + dim Im (T k)− dim(kerT k ∩ ImT k)

= dimker(T k) + dim Im (T k)

= dimV

V = kerT k ⊕ ImT k V = kerT k + ImT k

ker(T ) = ker(S) {v , . . . , vk}
{Tu , . . . , Tur} V {v , . . . , vk, u , . . . , ur} u , . . . , ur ∈ V

x , . . . , xs, y , . . . , ys ∈ W ImS {Su , . . . , Sur} ImT

R : W −→ W W {Su , . . . , Sur, y , . . . , ys} {Tu , . . . , Tur, x , . . . , xs}

RTui = Sui, i = , . . . , r,

Rxi = yi, i = , . . . , s

RTvi = R( ) = = Svi R

RT = S S RT i = , . . . , r RTui = Sui i = , . . . , k

rank(TS) = rank(S)− dim(kerT ∩ ImS).

kerT ∩ ImS = kerT rank(S) = m ImS = W S

rank(TS) = rank(S)− dim(kerT ∩ ImS)

= m− dim(kerT )

= rank(T )

B =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ S A =

⎡⎣ ⎤⎦ T

TS = 0 AB = 0 S BX =

rank(TS) �= rank(T ) rank(T ) = rank(TS) =

S S : V −→ W dimV = dimW =

rank(TS) = rank(T )

dim(kerT ∩ ImS) = kerT ∩ ImS = { } kerT = { } T

rank(TS) = rank(S)

kerT ∩ ImS = kerT TS = 0 rank(S) = m ImS = W S

= rank(S)− dim(kerT ∩ ImS) = m− dimkerT = rank(T )



v ∈ V w ∈ W TS = 0 T S T = 0

T = 0 Tw = TSv = w = Sv

{w , . . . , wk} S T = 0 TS = 0

x , . . . , xs ∈ W k < n k = n ImS wi = Svi

W {w , . . . , wk, x , . . . , xs}
T : W −→ V V {v , . . . , vk, y , . . . , yr} y , . . . , yr ∈ kerS

i = , . . . , k i = , . . . , s Txi = xi i = , . . . , k Twi =

TS = 0 TSyi = T = i = , . . . , r TSvi = Twi =

S k = n xi = Txi = T = 0

kerT ∩ ImS = { } TS = 0 kerT = { } T

= rank(S)− dim(kerT ∩ ImS) = rank(S)− = rank(S)

T S = 0 TS = 0 S = 0

V {w , . . . , wk} kerT {w , . . . , wk} kerT �= { }
i = k + , . . . , n Svi = i = , . . . , k Svi = wi S : V −→ W

T S �= 0 S = 0 TS = 0

dim(kerT ∩ ImS) ≤ dimkerT kerT ∩ ImS ⊆ kerT

rank(S) = rank(TS) + dim(kerT ∩ ImS) ≤ rank(TS) + dimkerT

TSV ⊆ TW = ImT Im (TS) ⊆ ImT rank(TS) ≤ rank(S)

rank(TS) ≤ min{rank(T ), rank(S)} rank(TS) ≤ rank(T )

dim(kerT ∩ ImS) ≤ dimkerT kerT ∩ ImS ⊆ kerT

rank(S) = rank(TS) + dim(kerT ∩ ImS)

≤ rank(TS) + dimkerT

= rank(TS) +m− rank(T )

rank(TS) ≥ rank(S) + rank(T )−m

dimkerS ≤ dimkerTS kerS ⊆ kerTS

rank(T ) ≥ rank(TS) =⇒ n− rank(T ) ≤ n− rank(TS)

=⇒ n− (m− dimkerT ) ≤ dimkerTS

=⇒ n−m+ dimkerT ≤ dimkerTS.

dimkerTS ≤ n V kerTS

rank(TS) ≥ rank(T ) + rank(S)−m =⇒ n− dimkerTS ≥ m− dimkerT + n− dimkerS −m

=⇒ n− dimkerTS ≥ − dimkerT − dimkerS

=⇒ dimkerTS ≤ dimkerT + dimkerS.

rank(S + T ) = dim((S + T )V )

= dim(SV + TV )

= dim(SV ) + dim(TV )− dim(SV ∩ TV )

= rank(S) + rank(T )− dim(SV ∩ TV )

≤ rank(S) + rank(T ).

rank(S) ≥ rank(T )

rank(S) = rank((S + T )− T )

≤ rank(S + T ) + rank(−T )

= rank(S + T ) + rank(T )

rank(S)− rank(T ) ≤ rank(S + T )



T m(x) = xs + as− xs− + · · ·+ a x+ a T

Tv = λv λ v ∈ V

w = μv μ w ∈ span {v} Tw = λw �= w ∈ V

{v, w} w /∈ span {v} Tw = T (μv) = μT (v) = μλv = λw

T (v + w) = α(v + w) Tw = μw α μ

α(v + w) = T (v + w) = Tv + Tw = λv + μw =⇒ (α− λ)v + (α− μ)w = =⇒ α = λ, α = μ.

P A

D = diag ( , . . . , , , . . . , ) P− AP = D

D D = D

A = (PDP− ) = PDP− PDP− = PD P− = PDP− = A

T λ f(x) = anx
n + an− xn− + · · ·+ a x+ a A

k ∈ N Tv = λv v ∈ V

T kv = T k− (Tv) = T k− (λv) = λT k− (v) = λλk− (v) = λkv.

f(T )v = (anT
n + an− T n− + · · ·+ a T + a id)v

= anT
nv + an− T n− v + · · ·+ a Tv + a idv

= anλ
nv + an− λv + · · ·+ a λv + a v

= (anλ
n + an− λ+ · · ·+ a λ+ a )v

= f(λ)v

v = T− (λv) = λT− (v) Tv = λv v ∈ V T λ

Ak− �= 0 Ak = 0 k ∈ N A λ− v = T− (v)

λ = λk = Ak = 0 λk A λ

A A n A

B X BX = 0 X A λ

AB = BA BX = 0

AX = λX =⇒ BAX = λBX =⇒ ABX = λBX.



B X BX = αX α A λ BX

A F n B B A

B B F n B

P− AP = D P A n A

P− ABP = P− BAP AB = BA D = diag (λ , . . . , λn)

C C = P− BP DC = CD P− APP− BP = P− BPP− AP

≤ i, j ≤ n

[DC]ij =
n∑

k=

[D]ik[C]kj = λi[C]ij [CD]ij =
n∑

k=

[C]ik[D]kj = [B]ijλj

[C]ij = λi �= λj i �= j (λi − λj)[B]ij = λi[B]ij = [B]ijλj

C i �= j

f( r
s
) =

f(
r

s
) = ⇐⇒ an(

r

s
)n + an− (

r

s
)n− + · · ·+ a (

r

s
) + a =

⇐⇒ an
rn

sn
+ an−

rn−

sn−
+ · · ·+ a

r

s
+ a =

⇐⇒ anr
n + an− rn− s+ · · ·+ a rsn− + a sn =

⇐⇒ an− rn− s+ · · ·+ a rsn− + a sn = −anr
n.

−anr
n s s an− rn− s+ · · ·+ a rsn− + a sn = −anr

n

anr
n + an− rn− s+ · · ·+ a rsn− = −a sn an s r s

a r s r −a sn r r

T

A =

⎡⎢⎢⎢⎢⎢⎣
− − − −

⎤⎥⎥⎥⎥⎥⎦ .

A

χA(x) = det(xI − A) =

∣∣∣∣∣∣∣∣∣∣∣

x+

− x− − −
− − x −
− − − x

∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣

x+ − x+ − x −x−
− x+

− − x+

− − x+

∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣

x+ − x+ −x−
− x+

− − x+

− − x+

∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣

x+ − x+

− x+

− − x+

− − x+

∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣

x+

− x+

− − x+

− − x+

∣∣∣∣∣∣∣∣∣∣∣
= (x+ )(x+ ) .

− − − A

(A+ I)V =

⎡⎢⎢⎢⎢⎢⎣
− − − −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
v

v

v

v

⎤⎥⎥⎥⎥⎥⎦ = 0.

⎡⎢⎢⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
v

v

v

v

⎤⎥⎥⎥⎥⎥⎦ = 0.

− − v= − v v = v =



A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
x − −
− x

− − x−

∣∣∣∣∣∣∣∣∣ (R +R → R )

=

∣∣∣∣∣∣∣∣∣
x − −

x− x−
− − x−

∣∣∣∣∣∣∣∣∣ (−C + C → C )

=

∣∣∣∣∣∣∣∣∣
x −x− −

x−
− − x−

∣∣∣∣∣∣∣∣∣
= −(x− )

∣∣∣∣∣∣ −x− −
− x−

∣∣∣∣∣∣
= −(x− )((−x− )(x− )− ) = (x− )(−x + x− )

= (x− )

(A − λI)X = 0 λ = A λ =

(A− I)X = 0⎡⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎦ R +R → R→
R +R → R

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦

−R / +R → R→

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦

λ = x + x = −x − x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

− x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦ .
λ =

ker(A− I) = {X ∈ R | AX = X} = span {( ,− , )�}.

A A

A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
+ x − −

− + x −
− − + x

∣∣∣∣∣∣∣∣∣ (R + R → R )

=

∣∣∣∣∣∣∣∣∣
+ x − −

− − x + x

− − + x

∣∣∣∣∣∣∣∣∣ (C + C → C )

=

∣∣∣∣∣∣∣∣∣
+ x − + x −

− − x

− − + x

∣∣∣∣∣∣∣∣∣ ( )

= −(− − x)

∣∣∣∣∣∣ − + x −
− − + x

∣∣∣∣∣∣
= −(− − x)((− + x)(− + x)− )

= x(x− )(x+ )

λ = − λ = λ = A

AX = 0 λ =⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦



⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦ −R +R → R→−R +R → R

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦
R +R → R→
R / → R

⎡⎢⎢⎢⎣ −
−

⎤⎥⎥⎥⎦
R +R → R→
R +R → R

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

λ = x + x = x + x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
−x

−x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ .
λ =

ker(A) = {X ∈ R | AX = 0} = span {(− ,− , )�}.

(A− I)X = 0 (A− λI)X = 0 λ =

(A− I)X =

⎡⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
−

−
− −

⎤⎥⎥⎥⎦ −R +R → R→
R +R → R

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
R +R → R→
R / → R

⎡⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎦

x − x = −x + x =

λ =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

λ =

ker(A− I) = {X ∈ R | AX = X} = span {( , , )�}.

(A+ I)X = 0 (A− λI)X = 0 λ = −

(A+ I)X =

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ − R +R → R→

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
− x − x = x + x =

λ = −

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
− x

x

− x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦ .
λ = −

ker(A+ I) = {X ∈ R | AX = − X} = span {(− , , )�}.

P P− AP = diag ( , ,− ) P A

P =

⎡⎢⎢⎢⎣
− −
−

−

⎤⎥⎥⎥⎦ .



A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
+ x −

− + x −
− − + x

∣∣∣∣∣∣∣∣∣ = −(− + x)x( + x)

λ = − λ = λ = A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
− + x −
− − + x

− − + x

∣∣∣∣∣∣∣∣∣ (C + C → C )

=

∣∣∣∣∣∣∣∣∣
− + x

− + x

− + x + x

∣∣∣∣∣∣∣∣∣ (−R +R → R )

=

∣∣∣∣∣∣∣∣∣
− + x

− − x

− + x + x

∣∣∣∣∣∣∣∣∣ ( )

= −( + x)

∣∣∣∣∣∣ − + x

− − x

∣∣∣∣∣∣
= −(x+ )((x− )(−x− )− )

= (− + x)( + x)

λ = − λ = A

(A− I)X = 0 (A− λI)X = 0 λ =

(A− I)X =

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦ − R +R → R→− R +R → R

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦

R +R → R
−R / → R →
R / → R

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
x − x = x − x =

λ =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

λ =

ker(A− I) = {X ∈ R | AX = X} = span {( , , )�}.

(A+ I)X = 0 (A− λI)X = 0 λ = −

(A+ I)X =

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

x + x − x =

λ = −

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

x + x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .
λ = −

ker(A+ I) = {X ∈ R | AX = −X} = span {( , , )�, ( , , )�}.

P P− AP = diag ( ,− ,− ) P A

P =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
+ x − −
− + x −
− − + x

∣∣∣∣∣∣∣∣∣ (−C + C → C )



=

∣∣∣∣∣∣∣∣∣
+ x −
− + x −
− − − x + x

∣∣∣∣∣∣∣∣∣ (R +R → R )

=

∣∣∣∣∣∣∣∣∣
+ x −
− − + x

− − − x + x

∣∣∣∣∣∣∣∣∣ ( )

= −(− − x)

∣∣∣∣∣∣ + x −
− − + x

∣∣∣∣∣∣
= −(−x− )((x+ )(x− )− )

= (− + x)( + x)

λ = − λ = A

(A− I)X = 0 (A− λI)X = 0 λ =

(A− I)X =

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦ −R +R → R→
R +R → R

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
R / → R →

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
R +R → R→

⎡⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎦
x − x = − x + x =

λ = x = x = x

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

λ =

ker(A− I) = {X ∈ R | AX = X} = span {( , , )�}.

(A+ I)X = 0 (A− λI)X = 0 λ = −

(A+ I)X =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

x + x + x =

λ = −

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

−x − x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ .
λ = −

ker(A+ I) = {X ∈ R | AX = − X} = span {( , ,− )�, ( , ,− )�}.

P P− AP = diag ( ,− ,− ) P A

P =

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦ .
A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
− + x − −

+ x

− − − + x

∣∣∣∣∣∣∣∣∣ (R +R → R )

=

∣∣∣∣∣∣∣∣∣
− + x − −

+ x + x

− − − + x

∣∣∣∣∣∣∣∣∣ (−C + C → C )

=

∣∣∣∣∣∣∣∣∣
− + x − − x −

+ x

− − + x

∣∣∣∣∣∣∣∣∣ ( )



= −(− − x)

∣∣∣∣∣∣ + x

− − + x

∣∣∣∣∣∣
= (− + x)( + x)

λ = − λ = A

(A− I)X = 0 (A− λI)X = 0 λ =

(A− I)X =

⎡⎢⎢⎢⎣
−
− − −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
−
− − −

⎤⎥⎥⎥⎦ −R +R → R→
R +R → R

⎡⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎦
−R / → R→−R / → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
R +R → R→

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦

x + x = x − x =

λ =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
−x

−x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ .
λ =

ker(A− I) = {X ∈ R | AX = X} = span {(− ,− , )�}.

(A+ I)X = 0 (A− λI)X = 0 λ = −

(A+ I)X =

⎡⎢⎢⎢⎣ − − −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

x + x + x =

λ = −

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
−x − x

x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦ .

λ = −

ker(A+ I) = {X ∈ R | AX = − X} = span {(− , , )�, (− , , )�}.

P P− AP = diag ( ,− ,− ) P A

P =

⎡⎢⎢⎢⎣
− − −
−

⎤⎥⎥⎥⎦ .
A

det(xI − A) =

∣∣∣∣∣∣∣∣∣∣∣

− + x − −
− − + x −

+ x

− − − + x

∣∣∣∣∣∣∣∣∣∣∣
(−R +R → R )

=

∣∣∣∣∣∣∣∣∣∣∣

− + x − −
− − + x −

− + x − + x

− − x + x

∣∣∣∣∣∣∣∣∣∣∣
(C + C → C )

=

∣∣∣∣∣∣∣∣∣∣∣

− + x − − − + x

− − + x − −
− + x − + x − + x

− − x

∣∣∣∣∣∣∣∣∣∣∣
(−C + C → C )

=

∣∣∣∣∣∣∣∣∣∣∣

− + x − −x − + x

− − + x − −
− + x − + x

− − x

∣∣∣∣∣∣∣∣∣∣∣
( )



= −(− − x)

∣∣∣∣∣∣∣∣∣
− −x − + x

− + x − −
− + x

∣∣∣∣∣∣∣∣∣ ( )

= (x+ )(x− )

∣∣∣∣∣∣ − −x

− + x −

∣∣∣∣∣∣
= (x+ )(x− )( + x(x− ))

= (x− ) (x+ )

λ = − λ = A

(A− I)X = 0 (A− λI)X = 0 λ =

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
−
−

− − −
−

⎤⎥⎥⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−

− − −
−

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −
− − −

− − −
− − −

⎤⎥⎥⎥⎥⎥⎦

− R +R → R
−R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦

λ = −x + x = x + x = −x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

−x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦ .
λ =

ker(A− I) = {X ∈ R | AX = X} = span {( , ,− , )�}.

(A+ I)X = 0 (A− λI)X = 0 λ = −

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
−
−

− −
−

⎤⎥⎥⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−

− −
−

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−
− −

− −

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎥⎥⎦
−x + x = x − x = − x − x =

λ = −

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .



λ = −

ker(A+ I) = {X ∈ R | AX = −X} = span {( , , , )�}.

A A

A

det(xI − A)=

∣∣∣∣∣∣∣∣∣∣∣

x −
− + x − −
− − + x −

− + x

∣∣∣∣∣∣∣∣∣∣∣
(−C + C → C

C + C → C

)

=

∣∣∣∣∣∣∣∣∣∣∣

x − + x − x

− + x −
− − + x −

+ x

∣∣∣∣∣∣∣∣∣∣∣
(R +R → R )

=

∣∣∣∣∣∣∣∣∣∣∣

x − + x − x

− + x −
− + x + x −

+ x

∣∣∣∣∣∣∣∣∣∣∣
(−R +R → R )

=

∣∣∣∣∣∣∣∣∣∣∣

x − + x − x

− + x −
+ x

+ x

∣∣∣∣∣∣∣∣∣∣∣
( )

= ( − x)

∣∣∣∣∣∣∣∣∣
− + x −
+ x

+ x

∣∣∣∣∣∣∣∣∣ ( )

= −( − x)( + x)

∣∣∣∣∣∣ + x

+ x

∣∣∣∣∣∣
= (−x+ )(−(x+ )(x+ )(x+ ))

= (x− )(x+ ) (x+ )

λ = − λ = − λ = A

(A− I)X = 0 (A− λI)X = 0 λ =

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦
R +R → R

− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−
−
−

⎤⎥⎥⎥⎥⎥⎦

→ R −R / →

⎡⎢⎢⎢⎢⎢⎣
−
−

−
−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎥⎥⎦
λ = x + x = x = x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

−x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

λ =

ker(A− I) = {X ∈ R | AX = X} = span {( , , ,− )�}.

(A+ I)X = 0 (A− λI)X = 0 λ = −

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦



⎡⎢⎢⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎥⎥⎦
− R +R → R
− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

→ R R / →

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦

R / +R → R→

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
λ = − x + x = x + x = x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

−x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

λ = −

ker(A+ I) = {X ∈ R | AX = 0} = span {( , , ,− )�}.

(A+ I)X = 0 (A− λI)X = 0 λ = −

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦
− R +R → R
−R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

− −
−

− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R
R +R → R→−R / → R

⎡⎢⎢⎢⎢⎢⎣
− −

− −
−

− −

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→

⎡⎢⎢⎢⎢⎢⎣ − −

⎤⎥⎥⎥⎥⎥⎦
λ = − x − x − x = x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
− x

x + x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .
λ = −

ker(A+ I) = {X ∈ R | AX = − X} = span {(− , , , )�, ( , , , )�}.

P P− AP = diag ( ,− ,− ,− ) P A

P =

⎡⎢⎢⎢⎢⎢⎣
− −

− −

⎤⎥⎥⎥⎥⎥⎦ .



A

det(xI − A) =

∣∣∣∣∣∣x+ −
x−

∣∣∣∣∣∣ = x − x− + = x − x+ = (x+ )(x− ).

λ = X λ = − X − A

X =

⎡⎣ ⎤⎦ X =

⎡⎣ ⎤⎦ .
P− AP = D

P =

⎡⎣ ⎤⎦ D =

⎡⎣− ⎤⎦ .
An = (PDP− )n = PDP− PDP− · · ·PDP− = PDnP− A = PDP−

An = PDP−

=

⎡⎣ ⎤⎦⎡⎣(− )n n

n

⎤⎦⎡⎣ −
−

⎤⎦
=

⎡⎣(− )n n+ n

(− )n n

⎤⎦⎡⎣ −
−

⎤⎦
=

⎡⎣(− )n n+ − n −(− )n n+ + × n

(− )n − n −(− )n + × n

⎤⎦

det(−AB) = (− )n det(A) det(B) = (− )n det(B) det(A) = det(−BA).

I T =

⎡⎣ I A

B xI

⎤⎦ x �= x =

det(T ) =

∣∣∣∣∣∣ I A

B xI

∣∣∣∣∣∣ = det(I) det(xI − BI− A) = det(xI −BA)

I

det(T ) =

∣∣∣∣∣∣ I A

B xI

∣∣∣∣∣∣ = det(xI) det(I − A(xI)− B) = det(xI − AB)

− D

det(xI −D) =

∣∣∣∣∣∣ xI − A −B

−B xI − A

∣∣∣∣∣∣
=

∣∣∣∣∣∣ xI − A+B −B

−B − xI + A xI − A

∣∣∣∣∣∣
=

∣∣∣∣∣∣ xI − A+ B −B

0 xI − A− B

∣∣∣∣∣∣
= det(xI − (A− B)) det(xI − (A+B)).

AX = 0 X = (x , . . . , xn)
� A⎧⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎩

nx + x + · · ·+ xn =

x + nx + · · ·+ xn =

x + x + · · ·+ nxn =

n − �= ( n − )(x + · · · + xn) = n

(n − )xi = i = , . . . , n i x + · · · + xn

A X = 0

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

x⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

x

Xi ker(A − λiI) Xi A

P = [X X · · · Xk] λi

P−

A = PDP−



= [X X · · · Xk]

⎡⎢⎢⎢⎢⎢⎢⎣
λ I 0 · · · 0

0 λ I · · · 0

0 0 · · · λkI

⎤⎥⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎢⎣
Y �

Y �

Y �
k

⎤⎥⎥⎥⎥⎥⎥⎦
= λ X Y � + λ X Y � + · · ·+ λkXkY

�
k

= λ G + λ G + · · ·+ λkGk,

PP− = I Gi = XiY
�
i

I = PP− = [X X · · · Xk]

⎡⎢⎢⎢⎢⎢⎢⎣
Y �

Y �

Y �
k

⎤⎥⎥⎥⎥⎥⎥⎦ =
k∑

i=

XiY
�
i =

k∑
i=

Gi.

P− P = I
∑k

i= Gi = I

I = P− P =

⎡⎢⎢⎢⎢⎢⎢⎣
Y �

Y �

Y �
k

⎤⎥⎥⎥⎥⎥⎥⎦ [X X · · · Xk] =

⎡⎢⎢⎢⎢⎢⎢⎣
Y �X Y �X · · · Y �Xk

Y �X Y �X · · · Y �Xk

Y �
k X Y �

k X · · · Y �
k Xk

⎤⎥⎥⎥⎥⎥⎥⎦

Y �
i Xj =

⎧⎨⎩ I i = j

0 i �= j

Gi = GiGi = (XiY
�
i )(XiY

�
i ) = Xi(Y

�
i Xi)Y

�
i = XiIY

�
i = XiY

�
i = Gi

i �= j

GiGj = (XiY
�
i )(XjY

�
j ) = Xi(Y

�
i Xj)Y

�
i = Xi0Y

�
i = 0.

Y �
i Xi = I Im (AB) ⊆ ImA ImGi = ker(A− λI)

ImGi = Im (XiY
�
i ) ⊆ ImXi = Im (IXi) = Im (XiY

�
i Xi) = Im (GiXi) ⊆ ImGi

A =
∑k

j= λjGj kerGi = Im (A− λI) ImGi = ImXi = ker(A− λiI)

Gi

Gi(A− λiI) = Gi

(
k∑

j=

λjGj − λi

k∑
j=

Gj

)

=
k∑

j=

λjGiGj − λi

k∑
j=

GiGj

= λiGi − λiGi = 0

ker(A− λiI) = ImGi Im (A− λiI) ⊆ kerGi

dimR(A− λiI) = n− dimker(A− λiI) = n− ImGi = dimkerGi

Im (A− λiI) = kerGi

A Gi

n = dim Im I

= dim Im (G +G + · · ·+Gk)

= dim ImG + dim ImG + · · ·+ dim ImGk

= dimker(A− λ I) + dimker(A− λ I) + · · ·+ dimker(A− λkI)

r(x)g(x) + s(x)h(x) = s(x) r(x) h(x) g(x)

h(T )r(T )g(T ) = r(T )h(T )g(T ) = r(T )f(T ) = 0 r(T )g(T ) + s(T )h(T ) = id

g(T )s(T )h(T ) = s(T )g(T )h(T ) = s(T )f(T ) = 0 r(T )g(T ) ⊆ ker(h(T ))

r(T )g(T )v + s(T )h(T )v = v v ∈ V s(T )h(T ) ⊆ ker(h(T ))

V = U + W s(T )h(T )v ∈ U = ker(g(T )) r(T )g(T )v ∈ W = ker(h(T ))

v = r(T )g(T )v + s(T )h(T )v = 0 g(T )v = 0 h(T )v = 0 v ∈ U ∩W

f(x) = x(x− ) T T (T − id) = 0 T = T

T x(x− ) x− x T

f(x) = x(x− )(x + ) T T (T − id)(T + id) = 0 T = T

x − )(x + ) x(x + ) x(x − ) x + x − x T

T x(x− )(x+ )

m(T ) S f(x) T m(x) S := T |W
m(S) = W m(T ) m(T )v = v ∈ V V

f(x) | m(x)



A

T j− (T (u)) = v T j(u) = v u v ∈ Im (T j)

Im (T j) ⊆ Im (T j− ) j v ∈ Im (T j− )

V = Im id = ImT ⊇ ImT ⊇ ImT ⊇ · · · ⊇ ImT k− ⊇ ImT k ⊇ ImT k+ = {0}.

Im (T j) = Im (T j− ) j ≤ j ≤ k Im (T j− ) ⊂ Im (T j)

{0} = ker id = kerT ⊂ kerT ⊂ kerT ⊂ · · · ⊂ kerT k ⊂ kerT k+ = ker0 = V.

n = dimkerT j + dim ImT j

n = dimkerT j− + dim ImT j−

Im (T j) = Im (T j− ) dim kerT j + dim ImT j = dimkerT j− + dim ImT j−

kerT j− = kerT j kerT j− ⊂ kerT j dimkerT j = dimkerT j−

A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
+ x −

− + x

− + x

⎤⎥⎥⎥⎦ (C + C → C )

=

∣∣∣∣∣∣∣∣∣
+ x −

− + x − + x

− − + x

∣∣∣∣∣∣∣∣∣ (−R +R → R )

=

∣∣∣∣∣∣∣∣∣
+ x −

+ x

− − + x

∣∣∣∣∣∣∣∣∣ ( )

= (− + x)

∣∣∣∣∣∣ + x −
+ x

∣∣∣∣∣∣
= (x− )((x+ )(x+ ) + )

= (x− )(x+ )

(A− I)X = 0 − A

(A− I)X =

⎡⎢⎢⎢⎣
− −
− −
− −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
− −
− −
− −

⎤⎥⎥⎥⎦ −R / → R →

⎡⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎦
R +R → R→
R +R → R

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
−R / → R →

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
R +R → R→
R +R → R

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦
x − x = x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣ x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

(A+ I)X = 0 − X = ( , , )�

(A+ I)X =

⎡⎢⎢⎢⎣
− −
− −
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
− −
− −
−

⎤⎥⎥⎥⎦ −R / → R →

⎡⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎦



R +R → R→
R +R → R

⎡⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎦
− x − x = x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

(A+ I) X = 0 (A+ I)X �= 0 X X = ( , , )

(A+ I) X =

⎡⎢⎢⎢⎣
− −
− −
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

− −
− −
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦

=

⎡⎢⎢⎢⎣ −
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

(A+ I) X = 0 −x + x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

(A+ I)X = 0 X = ( , , )�

{X ,X ,X }

P = [X X X ] =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

AXj B P− AP = B P

{X ,X ,X }

AX = X = X + X + X

AX = − X = X − X + X

AX

X (A+ I)X = 0 (A+ I)X (A+ I) X = 0

(A+ I)X =

⎡⎢⎢⎢⎣
− −
− −
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ = −X

AX = −X − X (A+ I)X = −X

AX = −X + X − X

AXj B B

B = [AX AX AX ] =

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦ .
A

det(xI − A) =

⎡⎢⎢⎢⎣
+ x − −

− + x −
− − + x

∣∣∣∣∣∣∣∣∣ (C = C + C )

=

∣∣∣∣∣∣∣∣∣
+ x x −

x −
− + x

∣∣∣∣∣∣∣∣∣ (−R +R → R )

=

∣∣∣∣∣∣∣∣∣
+ x x −
− x

− + x

∣∣∣∣∣∣∣∣∣ ( )

= −x

∣∣∣∣∣∣ − x

− + x

∣∣∣∣∣∣
= −x(( − x)(− + x))

= x(x− )

AX = 0 A

AX =

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦



⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦ − R +R → R→−R +R → R

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦
−x + x = x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

(A− I)X = 0 X = ( , , )�

(A− I)X =

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦ − R +R → R→− R +R → R

⎡⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎦
−x + x = −x + x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

X = ( , , )�

(A− I) X = 0 (A− I)X �= 0 X

(A− I) X =

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦

=

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

(A− I) X = 0 x − x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

(A− I)X = 0 X = ( , , )�

{X ,X ,X }

P = [X X X ] =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

AXj B P− AP = B P

{X ,X ,X }

AX = = X + X + X

AX = −X = X +X + X

X (A− I)X = 0 (A− I)X (A− I) X = 0

(A− I)X =

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ = X

AX = X +X (A− I)X = X

AX = X +X +X

AXj B B

B = [AX AX AX ] =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
− + x

− + x −
− + x

∣∣∣∣∣∣∣∣∣ (R +R → R )



=

∣∣∣∣∣∣∣∣∣
− + x

− + x − + x

− + x

∣∣∣∣∣∣∣∣∣ (−C + C → C )

=

∣∣∣∣∣∣∣∣∣
− + x − x

− + x

− + x

∣∣∣∣∣∣∣∣∣ ( )

= −(− + x)

∣∣∣∣∣∣ − x

+ x

∣∣∣∣∣∣
= −(− + x)(( − x)( + x)− )

= (x− )

(A− I)X = 0 A

(A− I)X =

⎡⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎦ R +R → R→− R +R → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
x − x − x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x + x

x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

(A − I)X �= 0 X X = ( , , )� X = ( , , )�

(A− I) X = 0

(A− I) X =

⎡⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

− −
−

− −

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

(A− I)X = 0 (A− I) X = 0

{X ,X ,X } X = ( , , )�

P = [X X X ] =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

AXj B P− AP = B P

{X ,X ,X }

AX = X = X + X + X

AX = X = X + X + X

(A− I)X = 0 (A− I)X (A− I) X = 0

(A− I)X =

⎡⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦ = −X + X

AX = −X + X + X (A− I)X = −X + X

AX = −X + X + X

AXj B B

B = [AX AX AX ] =

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦ .

A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
− + x − −

+ x

− − − + x

∣∣∣∣∣∣∣∣∣ (R + R → R )

=

∣∣∣∣∣∣∣∣∣
− + x − −

− + x − + x

− − − + x

∣∣∣∣∣∣∣∣∣ (−C + C → C )



=

∣∣∣∣∣∣∣∣∣
− + x − −

− + x

− −x − + x

∣∣∣∣∣∣∣∣∣ ( )

= −(− + x)

∣∣∣∣∣∣ − + x −
− −x

∣∣∣∣∣∣
= −(− + x)(−x(− + x)− )

= (− + x)

(A− I)X = 0 A

(A− I)X =

⎡⎢⎢⎢⎣ − − −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣ − − −

⎤⎥⎥⎥⎦ R +R → R→−R +R → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
R +R → R→− R +R → R

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦

x + x = x − x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

−x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦ .
(A− I) X = 0 (A− I)X �= 0 X X = ( ,− , )�

(A− I) X =

⎡⎢⎢⎢⎣ − − −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣ − − −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦

=

⎡⎢⎢⎢⎣ − −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

(A− I) X = 0 x + x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

−x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ .
(A− I) = 0 (A− I)X = 0 X = ( , , )�

(A− I) X = 0 (A− I) X = 0

{X ,X ,X } X = ( , , )�

P = [X X X ] =

⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦ .
AXj B P− AP = B P

{X ,X ,X }

(A− I)X =

⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦ = X

(A− I)X =

⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦ = X +X

AX = X = X + X + X

AX = X +X + X

AX = X +X +X

AXj B B

B = [AX AX AX ] =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
+ x − −

− + x −
− x

∣∣∣∣∣∣∣∣∣ (−R +R → R )



=

∣∣∣∣∣∣∣∣∣
+ x − −

− − x + x

− x

∣∣∣∣∣∣∣∣∣ (C + C → C )

=

∣∣∣∣∣∣∣∣∣
+ x + x −

− − x

x

∣∣∣∣∣∣∣∣∣ ( )

= −(− − x)

∣∣∣∣∣∣ + x −
x

∣∣∣∣∣∣
= −(− − x)(( + x)x+ )

= ( + x)

(A+ I)X = 0 A −

(A+ I)X =

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

− − x + x + x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

x − x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ .
(A + I)X �= 0 X X = ( , ,− )� X = ( , , )�

(A+ I) X = 0

(A+ I) =

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

−
−
−

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

(A+ I)X = 0 (A+ I) X = 0

{X ,X ,X } X = ( , , )�

P = [X X X ] =

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ .

AXj B P− AP = B P

{X ,X ,X }

(A+ I)X =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ = X +X

AX = −X = −X + X + X

AX = −X = X + X + X

AX = X +X −X

AXj B B

B = [AX AX AX ] =

⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦ .
A

det(xI − A) =

∣∣∣∣∣∣∣∣∣
+ x −

+ x

− − + x

∣∣∣∣∣∣∣∣∣ (R +R → R )

=

∣∣∣∣∣∣∣∣∣
+ x −

+ x

+ x + x

∣∣∣∣∣∣∣∣∣ (−C + C → C )

=

∣∣∣∣∣∣∣∣∣
+ x − − − x

+ x −
+ x

∣∣∣∣∣∣∣∣∣ ( )

= ( + x)

∣∣∣∣∣∣ − − − x

+ x −

∣∣∣∣∣∣
= ( + x)( − ( + x)(− − x))

= (x+ )



(A+ I)X = 0 A −

(A+ I)X =

⎡⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎦ − R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
R / → R →

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
R +R → R→

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

− x + x = x + x =

X =

⎡⎢⎢⎢⎣
x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
−x

− x

x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ .
(A+ I) X = 0 (A+ I)X �= 0 X X = (− ,− , )�

(A+ I) X =

⎡⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

− −
− −

−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦

=

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

(A+ I) X = 0 x + x =

X =

⎡⎢⎢⎢⎣
x

x

−x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
x

x

−x

⎤⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦ .

(A+ I) = 0 (A+ I)X = 0 X = ( , , )�

(A+ I) X = 0 (A+ I) X = 0

{X ,X ,X } X = ( , , )�

P = [X X X ] =

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ .
AXj B P− AP = B P

{X ,X ,X }

(A+ I)X =

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ = −X

(A+ I)X =

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦ = X + X

AX = − X = − X + X + X

AX = −X − X + X

AX = X + X − X

AXj B B

B = [AX AX AX ] =

⎡⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎦ .

A =

⎡⎣ B C

0 B

⎤⎦ A A

B =

⎡⎣
−

⎤⎦
det(xI − A) = det(xI − B)



=

∣∣∣∣∣∣ − + x −
− + x

∣∣∣∣∣∣
= ((− + x)(− + x) + )

= (x− ) .

(A− I)X = 0 A

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦
x = x = −x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A− I) X = 0 (A− I)X �= 0 X X = ( , , , )�

(A− I) X =

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
(A− I) X = 0 x = x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A− I)X = 0 X = ( , , , )�

(A− I) X = 0 (A− I) X �= 0 X

(A− I) X =

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
(A− I) X = 0 −x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .



(A − I) X = 0 X = ( , , , )�

(A − I) X = 0 (A − I) = 0

X = ( , , , )� (A− I) X = 0

{X ,X ,X ,X }

P = [X X X X ] =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

AXj B P− AP = B P

{X ,X ,X ,X }

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎥⎥⎦ = −X

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ = −X

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ = −X +X +X

AX = X = X + X + X + X

AX = −X + X + X + X

AX = X −X + X + X

AX = −X +X +X + X

AXj B B

B = [AX AX AX AX ] =

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦ .

A =

⎡⎣ B 0

C D

⎤⎦ A A

D =

⎡⎣
−

⎤⎦ B =

⎡⎣
− −

⎤⎦
det(xI − A) = det(xI −B) det(xI − C)

=

∣∣∣∣∣∣ − + x −
+ x

∣∣∣∣∣∣
∣∣∣∣∣∣ − + x −

x

∣∣∣∣∣∣
= ((− + x)( + x) + )((− + x)x+ )

= (− + x) x

(A− I)X = 0 A

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
− −
− −

− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −
− −

− −

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−
−

− −

⎤⎥⎥⎥⎥⎥⎦



x + x = x = x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣ x

−x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

(A− I) X = 0 (A− I)X �= 0 X X = ( , , ,− )�

(A− I) X=

⎡⎢⎢⎢⎢⎢⎣
− −
− −

− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −
− −

− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
(A− I) X = 0 x = x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣ x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A− I)X = 0 X = ( , , , )�

AX = 0

AX =

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦
x + x = x = x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

−x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

A X = 0 AX �= 0 X X = ( ,− , , )�

A X =

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣ − −
− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
A X = 0 −x − x + x = x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

x + x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

AX = 0 X = ( , , , )�

{X ,X ,X ,X }

P = [X X X X ] =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .



AXj B P− AP = B P

{X ,X ,X ,X }

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ = X

AX =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ = X

AX = X = X + X + X + X

AX = X +X + X + X

AX = X + X + X + X

AX = X + X +X + X

AXj B B

B = [AX AX AX AX ] =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

A

det(xI − A)=

∣∣∣∣∣∣∣∣∣∣∣

+ x

− − + x −
− − − + x

− − − + x

∣∣∣∣∣∣∣∣∣∣∣
(
R +R → R

R +R → R

)

=

∣∣∣∣∣∣∣∣∣∣∣

+ x

− − + x −
− + x − + x

− + x − + x

∣∣∣∣∣∣∣∣∣∣∣
(−R +R → R )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x

− − + x −
− + x − + x

− − x + x

∣∣∣∣∣∣∣∣∣∣∣
(C + C → C )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x

− − + x −
− + x − + x

+ x

∣∣∣∣∣∣∣∣∣∣∣
(−C + C → C )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x −x

− − + x

− + x

+ x

∣∣∣∣∣∣∣∣∣∣∣
( )

=( + x)

∣∣∣∣∣∣∣∣∣
+ x −x

− − + x

− + x

∣∣∣∣∣∣∣∣∣ ( )

= ( + x)(− + x)

∣∣∣∣∣∣ −x

− + x

∣∣∣∣∣∣
= ( + x)(− + x)(( − (− + x)(−x)))

= (− + x) ( + x)

(A+ I)X = 0 − − A

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
− −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −

−
−
−

⎤⎥⎥⎥⎥⎥⎦ −R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦



R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦
− −x + x = −x − x = x − x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

−x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

(A− I)X = 0 X = ( ,− , , )�

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

R +R → R
− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦

x − x = x + x = −x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
−x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ .

(A− I) X = 0 (A− I)X �= 0 X X = (− , , , )�

(A− I) X =

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
− −

−

−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

⎡⎢⎢⎢⎢⎢⎣
− −

−

−

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R
− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦
(A− I) X = 0 −x + x = −x − x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
−x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ .



(A− I)X = 0 X = ( , , , )�

(A− I) X = 0 (A− I) X �= 0 X

(A− I) X =

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −

−

−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
−

−
−
−

⎤⎥⎥⎥⎥⎥⎦
(A− I) X = 0 −x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A− I) X = 0 X = ( , , , )�

{X ,X ,X ,X }

P = [X X X X ] =

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦ .

AXj B P− AP = B P

{X ,X ,X ,X }

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ = X

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ = X +X

AX = −X = −X + X + X + X

AX = X = X +X + X + X

AX = X +X +X + X

AX = X + X +X +X

AXj B B

B = [AX AX AX AX ] =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

A

det(xI − A)=

∣∣∣∣∣∣∣∣∣∣∣

+ x − − −
− + x − −
− x −
− − x

∣∣∣∣∣∣∣∣∣∣∣
(
C + C → C

C + C → C

)

=

∣∣∣∣∣∣∣∣∣∣∣

+ x − x + x

− + x

− + x

− − + x

∣∣∣∣∣∣∣∣∣∣∣
(−R +R → R )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x − x + x

− + x

− + x

− − x − − x

∣∣∣∣∣∣∣∣∣∣∣
(R +R → R )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x − x + x

− + x

− − x

− − x − − x

∣∣∣∣∣∣∣∣∣∣∣
( )

=−( + x)

∣∣∣∣∣∣∣∣∣
− + x

− − x

− − x − − x

∣∣∣∣∣∣∣∣∣ ( )



=−( + x)(− − x)

∣∣∣∣∣∣ − + x

− − x

∣∣∣∣∣∣
=−( + x)(− − x)( − (− − x)(− + x))

=(− + x) ( + x)

(A+ I)X = 0 − − A

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦
− R +R → R
− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−
−

−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R
−R +R → R→−R / +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R
R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦
− −x + x = x = x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A+ I) X = 0 (A+ I)X �= 0 X X = ( , , , )�

(A+ I) X =

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦
− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−

−

⎤⎥⎥⎥⎥⎥⎦
(A+ I) X = 0 −x + x + x = x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x + x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A+ I)X = 0 X = ( , , , )�

(A− I)X = 0

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦



⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦ −R / → R →

⎡⎢⎢⎢⎢⎢⎣
−

− − −
− −
− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

− − −
−

−

⎤⎥⎥⎥⎥⎥⎦

R / → R →

⎡⎢⎢⎢⎢⎢⎣
− −

− − −
−

−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− −
−

−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎥⎥⎦
x − x = x − x = x − x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A− I) X = 0 (A− I)X �= 0 X X = ( , , , )�

(A− I) X =

⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
− −

− −
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

⎡⎢⎢⎢⎢⎢⎣
− −

− −
−

⎤⎥⎥⎥⎥⎥⎦
− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→
R / → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦
(A− I) X = 0 x − x = −x − x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
−x + x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A− I)X = 0 X = (− , , , )�

{X ,X ,X ,X }

P = [X X X X ] =

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ .

AXj B P− AP = B P



{X ,X ,X ,X }

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ = −X

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ = X

AX = −X = −X + X + X + X

AX = −X −X + X + X

AX = X = X + X +X + X

AX = X + X + X +X

AXj B B

B = [AX AX AX AX ] =

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦ .

A

det(xI − A)=

∣∣∣∣∣∣∣∣∣∣∣

+ x − − −
− + x − −
− x −
− − x

∣∣∣∣∣∣∣∣∣∣∣
(−R +R → R

−R +R → R

)

=

∣∣∣∣∣∣∣∣∣∣∣

+ x − − −
− + x − −

−x + x −
− − x + x

∣∣∣∣∣∣∣∣∣∣∣
(C + C → C )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x − − + x

− + x −
−x + x − − x

− − x

∣∣∣∣∣∣∣∣∣∣∣
(C + C → C )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x − + x + x

− + x

−x − − x

− − x

∣∣∣∣∣∣∣∣∣∣∣
( )

=−(− − x)

∣∣∣∣∣∣∣∣∣
− + x + x

− + x

− − x

∣∣∣∣∣∣∣∣∣ ( )

=( + x)(− − x)

∣∣∣∣∣∣ − + x

− + x

∣∣∣∣∣∣
=−(− − x)(− − x)(− − ( + x)(− + x))

=(− + x) ( + x)

(A+ I)X = 0 − − A

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R
− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
− −

− −

⎤⎥⎥⎥⎥⎥⎦



−R / +R → R→
R / + R → R

⎡⎢⎢⎢⎢⎢⎣
− −

− −

⎤⎥⎥⎥⎥⎥⎦
− x + x = x + x = x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
−x

x

− x

−x

⎤⎥⎥⎥⎥⎥⎦ = −x

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

(A+ I) X = 0 (A+ I)X �= 0 X X = ( ,− , , )�

(A+ I) X =

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R
−R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− − −

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

− − −

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

− −

⎤⎥⎥⎥⎥⎥⎦

(A+ I) X = 0 x − x − x = x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

−x

x

x − x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ .

(A+ I)X = 0 X = ( , , ,− )�

(A− I)X = 0

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦
−R +R → R
− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

− −
−

⎤⎥⎥⎥⎥⎥⎦

R / → R →

⎡⎢⎢⎢⎢⎢⎣
−
−

− −
−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R
R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

−
−

⎤⎥⎥⎥⎥⎥⎦

−R / → R →

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦



− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎥⎥⎦
−x + x = −x + x = −x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A− I) X = 0 (A− I)X �= 0 X X = ( , , , )�

(A− I) X =

⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
− −

−
− −
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− −

−
− −
−

⎤⎥⎥⎥⎥⎥⎦
R + R → R
−R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→
R / → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦

(A− I) X = 0 x − x = −x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .
(A− I)X = 0 X = ( , , , )�

{X ,X ,X ,X }

P = [X X X X ] =

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦ .
AXj B P− AP = B P

{X ,X ,X ,X }

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎥⎥⎦ = −X

(A− I)X =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ = X

AX = −X = −X + X + X + X

AX = −X −X + X + X

AX = X = X + X +X + X

AX = X + X + X +X

AXj B B

B = [AX AX AX AX ] =

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦ .



A

det(xI − A)=

∣∣∣∣∣∣∣∣∣∣∣

+ x −
− + x − −
− − + x −

− + x

∣∣∣∣∣∣∣∣∣∣∣
(−C + C → C

C + C → C

)

=

∣∣∣∣∣∣∣∣∣∣∣

+ x + x −
− + x −
− − − + x − x

+ x

∣∣∣∣∣∣∣∣∣∣∣
(R +R → R )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x + x −
− + x −
− − − + x

+ x

∣∣∣∣∣∣∣∣∣∣∣
(C + C → C )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x + x + x

− + x − + x

− − − + x

+ x

∣∣∣∣∣∣∣∣∣∣∣
(−R +R → R

−R +R → R

)

=

∣∣∣∣∣∣∣∣∣∣∣

+ x + x + x

− − x − −
− − − + x

− − x − − x −

∣∣∣∣∣∣∣∣∣∣∣
(−R +R → R

−R +R → R

)

=

∣∣∣∣∣∣∣∣∣∣∣

+ x + x + x

− + x −
x + x x

− − x − − x −

∣∣∣∣∣∣∣∣∣∣∣
(−C + C → C )

=

∣∣∣∣∣∣∣∣∣∣∣

+ x + x − − x + x

− + x

x + x

− − x − − x + x

∣∣∣∣∣∣∣∣∣∣∣
( )

=−( + x)

∣∣∣∣∣∣∣∣∣
− + x

x + x

− − x − − x + x

∣∣∣∣∣∣∣∣∣ ( )

=−( + x)( + x)

∣∣∣∣∣∣ − + x

x + x

∣∣∣∣∣∣
=−( + x)( + x)(− ( + x)− x( + x))

=( + x)

(A+ I)X = 0 A −

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦
R +R → R

− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

− −

⎤⎥⎥⎥⎥⎥⎦

−R / → R →

⎡⎢⎢⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎥⎥⎦

−R / → R →
R / → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦



R +R → R
− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦
− −x + x = x + x = x − x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

−x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦ .

(A+ I) X = 0 (A+ I)X �= 0 X X = ( , ,− , )�

(A+ I) X=

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦
R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− − −

−

⎤⎥⎥⎥⎥⎥⎦

R / → R →

⎡⎢⎢⎢⎢⎢⎣
− − −

−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦
(A+ I) X = 0 x − x = −x − x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x

−x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣ −

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A+ I)X = 0 X = ( , ,− , )�

(A+ I) X = 0 (A+ I) X �= 0 X

(A+ I) X=

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦

=

⎡⎢⎢⎢⎢⎢⎣
−
−

− − −
−

⎤⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
(A+ I) X = 0 x − x + x + x =

X =

⎡⎢⎢⎢⎢⎢⎣
x

x

x

x

⎤⎥⎥⎥⎥⎥⎦ =

⎡⎢⎢⎢⎢⎢⎣
x

x + x + x

x

x

⎤⎥⎥⎥⎥⎥⎦ = x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦+ x

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦ .

(A + I) X = 0 X = ( , , , )�

(A + I) X = 0 (A + I) = 0

X = ( , , , )� (A+ I) X = 0



{X ,X ,X ,X }

P = [X X X X ] =

⎡⎢⎢⎢⎢⎢⎣ − −

⎤⎥⎥⎥⎥⎥⎦ .

AXj B P− AP = B P

{X ,X ,X ,X }

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎥⎥⎦ = X

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
−
⎤⎥⎥⎥⎥⎥⎦ = − X

(A+ I)X =

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦ = − X − X + X

AX = X = X + X + X + X

AX = X + X + X + X

AX = X − X + X + X

AX = − X − X + X + X

AXj B B

B = [AX AX AX AX ] =

⎡⎢⎢⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎥⎥⎦ .

T v = λv λ v ∈ V

w = μv μ w ∈ span {v} Tw = λw �= w ∈ V

{v, w} w /∈ span {v} Tw = T (μv) = μT (v) = μλv = λw

T (v + w) = α(v + w) Tw = μw α μ

α(v + w) = T (v + w) = Tv + Tw = λv + μw =⇒ (α− λ)v + (α− μ)w = =⇒ α = λ, α = μ.

S ST = TS S

T S B = {v , . . . , vn} T S

B = [S]B = diag (μ , . . . μn) A = [T ]B = diag (λ , . . . λn)

B T S = a idV + a T + · · ·+ an− T n− a , a , . . . , an− ∈ F

Svi = μivi

μivi = Svi = a vi + a Tvi + · · ·+ an− T n− vi, i = , . . . , n.

vi Tmvi = λm
i vi

μi = a + a λi + · · ·+ an− λm−
i , i = , . . . , n.

A F n B A

AB = BA B P− AP = D P

P− BP = C = diag (α , . . . , αn) B F n B

B =
∑n

i= PEiiP
− P− BP =

∑n
i= αiEii

PEiiP
− A = PEiiP

− APP− = PEiiDP− = PDEiiP
− = PDP− PEiiP

− = APEiiP
−

A n Mn(F ) W = {B ∈ Mn(F ) | AB = BA}
{I, A, . . . , An− } n A n

An− . . . A I W W W

A n



χ(x) = (x − )(x + ) A

A − X = ( , , )� X = ( , , )�

A⎡⎢⎢⎢⎣ −
−

⎤⎥⎥⎥⎦
{X ,X ,X } m(x) = (x− )(x + ) A

(A+ I)X = X AX = X +X − X X

⎡⎢⎢⎢⎣
− −
− −
−

⎤⎥⎥⎥⎦ −R / → R →

⎡⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎦
R +R → R→
R +R → R

⎡⎢⎢⎢⎣
−
−

−

⎤⎥⎥⎥⎦
X = ( , ,− )� x − x = x = −

X = ( , , )� χ(x) = x(x− ) A

A X = ( , , )�

A⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

X {X ,X ,X } m(x) = x(x− ) A

(A− I)X = X AX = X +X +X

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦ − R +R → R→− R +R → R

⎡⎢⎢⎢⎣
− −
− −

−

⎤⎥⎥⎥⎦
X = (− , ,− )� −x + x = −x + x = −

χ(x) = (x− ) A

A A Y = ( , , )� Y = ( , , )�⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

m(x) = (x − ) A

{X ,X ,X }

AX = X , AX = X , AX = X + X .

X (A− I)X = X X X X

X = aY + bY =

⎡⎢⎢⎢⎣
a+ b

a

b

⎤⎥⎥⎥⎦
(A − I)X = X b a

(A− I)X =

⎡⎢⎢⎢⎣
− −

−
− −

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
a+ b

a

b

⎤⎥⎥⎥⎦

⎡⎢⎢⎢⎣
− − a+ b

− a

− − b

⎤⎥⎥⎥⎦ R +R → R→− R +R → R

⎡⎢⎢⎢⎣
− − a+ b

a+ b

− a− b

⎤⎥⎥⎥⎦



b = − a = b = − a a + b =

X =

⎡⎢⎢⎢⎣
a+ b

a

b

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎦
x = − x = x = x − x − x = − (A− I)X = X

X X = (− , , )� (A− I)X = X

A {X ,X ,X } X = ( , , )�

P = [X X X ] =

⎡⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎦ ,
P− AP = J

X = ( ,− , )� χ(x) = (x− ) A

A A⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

X {X ,X ,X } m(x) = (x− ) A

(A− I)X = X AX = X +X

⎡⎢⎢⎢⎣ − − − −

⎤⎥⎥⎥⎦ R +R → R→−R +R → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
R +R → R→− R +R → R

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦
X X = ( , , )� x + x = x − x =

(A− I)X = X AX = X +X

⎡⎢⎢⎢⎣ − − −

⎤⎥⎥⎥⎦ R +R → R→−R +R → R

⎡⎢⎢⎢⎣
− − −

⎤⎥⎥⎥⎦
R +R → R→− R +R → R

⎡⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎦
X = (− , , )� x + x = x − x = −

χ(x) = (x+ ) A

A A − Y = ( , ,− )� Y = ( , , )�⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
m(x) = (x − ) A

{X ,X ,X }

AX = −X , X = −X , AX = X −X .

X (A + I)X = X X − X X

X = aY + bY =

⎡⎢⎢⎢⎣
a

b

a− b

⎤⎥⎥⎥⎦
(A+ I)X = X b a

(A+ I)X =

⎡⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

x

x

x

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
a

b

a− b

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

− a

− b

− a− b

⎤⎥⎥⎥⎦ −R +R → R→−R +R → R

⎡⎢⎢⎢⎣
− a

b− a

a− b

⎤⎥⎥⎥⎦



a = b = a = b a− b =

X =

⎡⎢⎢⎢⎣
a

b

a− b

⎤⎥⎥⎥⎦ =

⎡⎢⎢⎢⎣
⎤⎥⎥⎥⎦

x = x = x = − x + x + x = (A− I)X = X

X X = ( , , )� (A + I)X = X

A {X ,X ,X } X = ( , , )�

P = [X X X ] =

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ ,
P− AP = J

χ(x) = (x + ) A

A A − X = (− ,− , )�⎡⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎦
X {X ,X ,X } m(x) = (x+ ) A

(A+ I)X = X AX = X − X

⎡⎢⎢⎢⎣
− − −
− − −

−

⎤⎥⎥⎥⎦ − R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− − −

⎤⎥⎥⎥⎦
R / → R →

⎡⎢⎢⎢⎣
− − −

⎤⎥⎥⎥⎦
R +R → R→

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦

X X = ( ,− , )� x + x = − x + x =

(A+ I)X = X AX = X − X

⎡⎢⎢⎢⎣
− −
− − −

−

⎤⎥⎥⎥⎦ − R +R → R→
R +R → R

⎡⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎦
R / → R →

⎡⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎦
R +R → R→

⎡⎢⎢⎢⎣
−
−

⎤⎥⎥⎥⎦
X = (− ,− , )� x + x = − x + x = −

X = ( , , , )� χ(x) = (x− ) A

A A⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
X {X ,X ,X ,X } m(x) = (x− ) A

(A − I)X = X AX = X + X

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦



R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦
X X = ( , , , )� x = x = −x + x =

(A− I)X = X AX = X + X

⎡⎢⎢⎢⎢⎢⎣
− −
− −

−
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−
−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎥⎥⎦
X = (− , , , )� −x = − x = −x + x =

χ(x) = x (x − ) A

X = ( ,− , , )� X = ( , , ,− )�

A A

⎡⎢⎢⎢⎢⎢⎣

⎤⎥⎥⎥⎥⎥⎦
X {X ,X ,X ,X } m(x) = x (x− ) A

(A− I)X = X AX = X +X

⎡⎢⎢⎢⎢⎢⎣
− −
− −

− − −

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

− − −

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−
−

− − −

⎤⎥⎥⎥⎥⎥⎦
X X = ( , , , )� x + x = x = x =

AX = X

⎡⎢⎢⎢⎢⎢⎣
− − −
− −

−

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦
X = ( , ,− , )� −x = − x = x + x =

χ(x) = (x + )(x − ) A

X = (− , , , )� − X = ( ,− , , )�

A A

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦
{X ,X ,X ,X } m(x) = (x + )(x− ) A

(A − I)X = X AX = X +X X



⎡⎢⎢⎢⎢⎢⎣
− − − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

R +R → R
− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − − −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦
X X = ( , , , )� x − x = x + x = −x + x = −

(A− I)X = X AX = X +X

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦
R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−
−

⎤⎥⎥⎥⎥⎥⎦

R +R → R
− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R→

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦
X = ( ,− , , )� x − x = x + x = −x + x =

χ(x) = (x − ) (x + ) A

X = ( , , , )� − X = ( , , , )�

A A⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦
{X ,X ,X ,X } m(x) = (x− ) (x + ) A

(A + I)X = X AX = X −X X

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦
− R +R → R
− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −
− −
− −

−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R
−R +R → R→−R / +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R
R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

⎤⎥⎥⎥⎥⎥⎦
X X = ( , , , )� −x + x = − x = x =

(A− I)X = X AX = X +X

⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦ −R / → R →

⎡⎢⎢⎢⎢⎢⎣
−

− − − −
− −
− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

− − − −
−

−

⎤⎥⎥⎥⎥⎥⎦



R / → R →

⎡⎢⎢⎢⎢⎢⎣
− −

− − − −
−

−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− − −
−

−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R
R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎥⎥⎦
X = ( , , , )� x − x = x − x = x − x =

χ(x) = (x − ) (x + ) A

X = ( , , , )� − X = ( ,− , , )�

A A⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦
{X ,X ,X ,X } m(x) = (x− ) (x + ) A

(A + I)X = X AX = X −X X

⎡⎢⎢⎢⎢⎢⎣
−
− −
−
−

⎤⎥⎥⎥⎥⎥⎦
−R +R → R
− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
− −

− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
− −

− −

⎤⎥⎥⎥⎥⎥⎦

−R / +R → R→
R / + R → R

⎡⎢⎢⎢⎢⎢⎣
− −

− −

⎤⎥⎥⎥⎥⎥⎦

X X = ( , ,− , )� − x − x = x + x = x + x =

(A− I)X = X AX = X +X

⎡⎢⎢⎢⎢⎢⎣
−
−
− −
− −

⎤⎥⎥⎥⎥⎥⎦
−R +R → R
− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

− − −
−

⎤⎥⎥⎥⎥⎥⎦

R / → R →

⎡⎢⎢⎢⎢⎢⎣
−
−

− − −
−

⎤⎥⎥⎥⎥⎥⎦

−R +R → R
R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

− −
−

⎤⎥⎥⎥⎥⎥⎦

−R / → R →

⎡⎢⎢⎢⎢⎢⎣
−
−
−
−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→− R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎥⎥⎦

X = ( , , , )� −x + x = −x + x = −x + x =

χ(x) = (x + ) A



A A − X = ( , ,− , )�⎡⎢⎢⎢⎢⎢⎣
−

−
−

−

⎤⎥⎥⎥⎥⎥⎦
X {X ,X ,X ,X } m(x) = (x+ ) A

(A+ I)X = X AX = X +X

⎡⎢⎢⎢⎢⎢⎣
− − −

−
− −

− − −

⎤⎥⎥⎥⎥⎥⎦
R +R → R

− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

− − −

⎤⎥⎥⎥⎥⎥⎦

−R / → R →

⎡⎢⎢⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −
− − −

−

⎤⎥⎥⎥⎥⎥⎦

−R / → R →
R / → R

⎡⎢⎢⎢⎢⎢⎣
− − −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R
− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦
X X = (− , , , )� −x + x = x − x = − x + x =

(A+ I)X = X AX = X − X

⎡⎢⎢⎢⎢⎢⎣
− − − −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦
R +R → R

− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −
−

− −

⎤⎥⎥⎥⎥⎥⎦

−R / → R →

⎡⎢⎢⎢⎢⎢⎣
− −
−
− −

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −
− −

− −

⎤⎥⎥⎥⎥⎥⎦

−R / → R →
R / → R

⎡⎢⎢⎢⎢⎢⎣
− −

− −

⎤⎥⎥⎥⎥⎥⎦

R +R → R
− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎥⎥⎦

X X = ( , , , )� −x + x = − x − x = x + x =

(A + I)X = X AX = X − X

⎡⎢⎢⎢⎢⎢⎣
− − −

−
−

− − −

⎤⎥⎥⎥⎥⎥⎦
R +R → R

− R +R → R→
R +R → R

⎡⎢⎢⎢⎢⎢⎣
−
−

− − −

⎤⎥⎥⎥⎥⎥⎦



−R / → R →

⎡⎢⎢⎢⎢⎢⎣
−
−
−

⎤⎥⎥⎥⎥⎥⎦

− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− − −
− − −

−

⎤⎥⎥⎥⎥⎥⎦

−R / → R →
R / → R

⎡⎢⎢⎢⎢⎢⎣
− − −

−

⎤⎥⎥⎥⎥⎥⎦

R +R → R
− R +R → R→−R +R → R

⎡⎢⎢⎢⎢⎢⎣
− −

−

⎤⎥⎥⎥⎥⎥⎦
X = (− ,− , , )� −x + x = x − x = − x + x =



u = A∗ − ||A∗ || e =

⎡⎢⎢⎢⎢⎢⎣
−

−

⎤⎥⎥⎥⎥⎥⎦

R = I − uu∗

u∗u
=

⎡⎢⎢⎢⎢⎢⎣
−

−
−

−

⎤⎥⎥⎥⎥⎥⎦ R A =

⎡⎢⎢⎢⎢⎢⎣
−

−
−

⎤⎥⎥⎥⎥⎥⎦ .

u =

⎡⎢⎢⎢⎣ −

⎤⎥⎥⎥⎦−
⎡⎢⎢⎢⎣

⎤⎥⎥⎥⎦
⎡⎢⎢⎢⎣

−
−

⎤⎥⎥⎥⎦

R̂ = I − uu∗

u∗u
=

⎡⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎦ R =

⎡⎢⎢⎢⎢⎢⎣
−

− −

⎤⎥⎥⎥⎥⎥⎦ ,

R R A =

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ .

u =

⎡⎣ ⎤⎦−
⎡⎣ ⎤⎦

⎡⎢⎢⎢⎣
−
⎤⎥⎥⎥⎦

R̂ = I − uu∗

u∗u
=

⎡⎣
−

⎤⎦ R =

⎡⎢⎢⎢⎢⎢⎣
−

⎤⎥⎥⎥⎥⎥⎦ ,

R R R A =

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ .

PA = T =

⎡⎣ R

0

⎤⎦

P� = R R R =

⎡⎢⎢⎢⎢⎢⎣
−

− −
−
− − −

⎤⎥⎥⎥⎥⎥⎦ R =

⎡⎢⎢⎢⎣
−

⎤⎥⎥⎥⎦ .

⎡⎢⎢⎢⎢⎢⎣
− − −

−
− −

⎤⎥⎥⎥⎥⎥⎦
R ImA⎡⎢⎢⎢⎢⎢⎣

− −

−

⎤⎥⎥⎥⎥⎥⎦
⎡⎢⎢⎢⎣

−
⎤⎥⎥⎥⎦ = A

A



A

A = PDP� P�AP = D P

A� = (PDP�)� = (P�)�D�P� = PDP� = A





|Y ∗AX| ≤ ||Y || ||AX||

max
||X|| =
||Y || =

|Y ∗AX| ≤ max
||X|| =

||AX|| = ||A|| .

Y X

X

||AX || = max
||X|| =

||AX|| = ||A||

Y =
AX

||AX || =
AX

||A||

Y ∗AX =
X A∗AX

||A|| =
||AX ||
||A|| =

||A||
||A|| = ||A|| .

||A|| = max
||X|| =
||Y || =

|Y ∗AX| = max
||X|| =
||Y || =

|(Y ∗AX)∗| = max
||X|| =
||Y || =

|X∗AY | = ||A∗|| .

||A∗A|| max
||X|| =
||Y || =

|Y ∗A∗AX| ≤ max
||X|| =
||Y || =

||AY || ||AX|| = ||A|| .

X X = Y = X

||AX || = max||X|| = ||AX|| = ||A||

|X∗A∗AX | = X A∗AX = ||AX || = ||A|| .

UU∗ = I

||U∗AX|| = X∗A∗UU∗AX = X∗A∗AX = ||AX|| ,

||U∗A|| = max
||X|| =

||U∗AX|| = max
||X|| =

||AX|| = ||A|| .

||A|| = ||A∗|| UU∗ = I

||AV || = ||(AV )∗|| = ||V ∗A∗|| = ||A∗|| = ||A|| ,

||U∗AV || = ||A||

X �= 0
∣∣∣∣∣∣ X
||X||

∣∣∣∣∣∣ = X �= 0 X = 0

||A|| = max
||X||=

||AX|| = max
X �=0

∣∣∣∣∣∣∣∣A X

||X||
∣∣∣∣∣∣∣∣ ≥ ||AX ||

||X ||
||AX || ≤ ||A|| ||X ||

X

||ABX || = max
||X||=

||ABX|| = ||AB|| .

||AB|| = ||ABX || ≤ ||A|| ||BX || ≤ ||A|| ||B|| ||X || = ||A|| ||B|| .

{X | ||X|| = } ⊆ {X | ||X|| ≤ }

||A|| = max
||X||=

||AX|| ≤ max
||X||≤

||AX|| .

||A|| < ||AX || ||X || < x

||A|| < ||AX || ≤ ||A|| ||X || < ||A||



min
||X||=

∣∣∣∣A− X
∣∣∣∣ = max

||X||= ||A− X|| = max
Y �=0
∣∣∣∣∣∣A− AY

||AY ||

∣∣∣∣∣∣
= max

Y �=0

||AY ||
||A− (AY )|| = max

Y �=0

||AY ||
||Y ||

= max
Y �=0

∣∣∣∣∣∣∣∣A Y

||Y ||
∣∣∣∣∣∣∣∣

= max
||X||=

||AX|| = ||A|| .


